
MATHS

BOOKS - NIKITA MATHS (HINGLISH)

VECTOR

MULTIPLE CHOICE QUESTIONS

1. Direction of zero vector

A. does not exist

B. is towards origin

C. is indeterminate

D. is determinate

Answer: C

W t h Vid S l ti

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_GWfW1cahJVj2


Watch Video Solution

2. The system of vector  is

A. orthogonal

B. coplanar

C. collinear

D. parallel

Answer: A

View Text Solution

î, ĵ, k̂

3. If  are tow parallel vectors wth equal magnitude, then

A. 

B. 

C. 

ā and b̄

a = b

ab = 0

a ≠ b

https://dl.doubtnut.com/l/_GWfW1cahJVj2
https://dl.doubtnut.com/l/_58yhoKmWNyUj
https://dl.doubtnut.com/l/_CwWYIPVufoNi


D. a and b may or may not equal

Answer: D

View Text Solution

4. If  is a non-zero vector and k is a scalar such that  then k=

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ā |kā| = 1,

|ā|

1

1

|ā|

±
1

|ā|

https://dl.doubtnut.com/l/_CwWYIPVufoNi
https://dl.doubtnut.com/l/_3nOgPm7t3uGc


5. If  is a non-zero vector of modulus a and m is non-zero scalar, then 

is a unit vector, if

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ā mā

m = ± 1

m = |ā|

m =
1

|ā|

m = ± 2

6. Two vectors  are collinear or parellel of coincident vectors, if

A.  are negatives of each other

B.  are squares of each other

C.  are scalar multiple of each other

D.  are projections of each other

ā and b̄

ā and b̄

ā and b̄

ā and b̄

ā and b̄

https://dl.doubtnut.com/l/_38pbVnua87h1
https://dl.doubtnut.com/l/_IhO36puWznSY


Answer: C

Watch Video Solution

7. If  are non-collinear vectors and x, y are some scalars such

that , then

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

→
a and

→
b

x
→
a + y

→
b =

→
0

x = 0, y ≠ 0

x ≠ 0, y ≠ 0

x ≠ 0, y = 0

x = 0, y = 0

8. If  are non-collinear vectors such that for some scalars 

, then

ā, b̄, c̄

x, y, z, xā + yb̄ + zc̄ = 0̄

https://dl.doubtnut.com/l/_IhO36puWznSY
https://dl.doubtnut.com/l/_NnPUMZRlsGpe
https://dl.doubtnut.com/l/_gM5CJnGIyrX0


A. 

B. 

C. 

D. 

Answer: D

View Text Solution

x = 0, y ≠ 0, z ≠ 0

x ≠ 0, y = 0, z ≠ 0

x ≠ 0, y ≠ 0, z = 0

x = 0, y = 0, z = 0

9. If  are two non-collinear vectors, then , where x and y

are scalars represents a vector which is

A. parallel to 

B. parallel to 

C. coplanar with 

D. coplanar with 

Answer: C

ā and b̄ xā + yb̄

b̄

ā

ā and b̄

ā or b̄

https://dl.doubtnut.com/l/_gM5CJnGIyrX0
https://dl.doubtnut.com/l/_A02ms0fDJVfj


Watch Video Solution

10.  is the scalar triple product of three vectors  then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

[ ā b̄ c̄ ] ā, b̄, c̄

[ ā b̄ c̄ ] =

[ b̄ ā c̄ ]

[ c̄ b̄ ā ]

[ b̄ c̄ ā ]

[ ā c̄ b̄ ]

11. Let the vectors  be coplanar, , then =

A. 

B. 

ū, v̄, ¯̄̄w ū ⋅ (v̄ × ¯̄̄w)

0

v̄

https://dl.doubtnut.com/l/_A02ms0fDJVfj
https://dl.doubtnut.com/l/_S95HAss81NOb
https://dl.doubtnut.com/l/_6ID35hqHENex


C. a unit vectors

D. 

Answer: A

Watch Video Solution

ū

12. The vectors  lies in the plane of vectors . Which of the

following is correct?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ā b̄ and c̄

ā ⋅ (b̄ × c̄) = 0

ā ⋅ (b̄ × c̄) = 1

ā ⋅ (b̄ × c̄) = − 1

ā ⋅ (b̄ × c̄) = 3

https://dl.doubtnut.com/l/_6ID35hqHENex
https://dl.doubtnut.com/l/_eoMixghAIIyF
https://dl.doubtnut.com/l/_5raPMROPKjcw


13. Which of the following represents the volume of paralleloP1ped. If

 are its co-terminous edges?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

¯̄̄ ¯̄¯OA = ā, ¯̄̄ ¯̄¯OB = b̄, ¯̄̄ ¯̄¯OC = c̄

[ ā b̄ c̄ ]
1

2

[ ā b̄ c̄ ]
1

6

[ ā c̄ b̄ ]

[ ā b̄ c̄ ]

14. The volume of the tetrahedron with  as its co-terminous as is

given by

A. 

B. 

C. 

ā, b̄, c̄

[ ā b̄ c̄ ]
1

2

[ ā b̄ c̄ ]
1

3

[ ā b̄ c̄ ]
1

6

https://dl.doubtnut.com/l/_5raPMROPKjcw
https://dl.doubtnut.com/l/_glUCTgqKTVWF


D. 

Answer: D

Watch Video Solution

[ ā b̄ c̄ ]

15. The volume of the tetrahedron with  as its co-terminous as is

given by

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ā, b̄, c̄

[ ā b̄ c̄ ]
1

6

[ ā b̄ c̄ ]

[ ā b̄ c̄ ]
1

3

[ ā b̄ c̄ ]
1

2

https://dl.doubtnut.com/l/_glUCTgqKTVWF
https://dl.doubtnut.com/l/_kXvyoCblmcF6


16. If  are any three vectors, which of the following statements is

not true?

A. 

B. 

C. 

D.  represents the volume of the paralleloP1ped with co-

terminous edges 

Answer: C

Watch Video Solution

p̄, q̄ , r̄

(q̄ × r̄) ⋅ p̄ = p̄ ⋅ (q̄ × r̄)

(p̄ × q̄ ) ⋅ r̄ = r̄ ⋅ (p̄ × q̄ )

(p̄ × q̄ ) ⋅ r̄ = (q̄ × p̄) ⋅ r̄

(p̄ × q̄ ) ⋅ r̄

p̄, q̄ , r̄

17. If  are any three vectors, which of the following statements is

not true?

A. 

B. 

p̄, q̄ , r̄

p̄ ⋅ (q̄ × r̄) = (q̄ × r̄) ⋅ p̄

p̄ ⋅ (q̄ × r̄) = (p̄ × q̄ ) ⋅ r̄

https://dl.doubtnut.com/l/_Jzcmux3Lktw4
https://dl.doubtnut.com/l/_aOeZZoxeHI6R


C. 

D. 

Answer: C

Watch Video Solution

p̄ ⋅ (q̄ × r̄) = (p̄ × r̄) ⋅ p̄

p̄ ⋅ (q̄ × r̄) = (r̄ × p̄) ⋅ q̄

18. If  are parallel vectors =

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ā and b̄ [ ā b̄ c̄ ]

0

1

2

4

https://dl.doubtnut.com/l/_aOeZZoxeHI6R
https://dl.doubtnut.com/l/_ghUBv6qrWwcQ


19. The unit vectors parallel to the resultant vectors of

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2 î + 4ĵ − 5k̂ and î + 2ĵ + 3k̂

3 î + 6ĵ − 2k̂

7

î + ĵ + k̂

√3

î + ĵ + 2k̂

√6

− î − ĵ + 8k̂

√69

20. If  and  are unit vectors, then angle between 

is

A. 

B. 

C. 

ê1 , ê2 ê1 + ê2 ê1 and ê2

90∘

120∘

450∘

https://dl.doubtnut.com/l/_SoRyLp1Pels5
https://dl.doubtnut.com/l/_Ao33Pruf6VTD


D. 

Answer: B

Watch Video Solution

135∘

21. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(ā ⋅ î) î + (ā ⋅ ĵ)ĵ + (ā ⋅ k̂)k̂) =

ā

2ā

3ā

0

22. If , then ā ⋅ î = ā ⋅ (2 î + ĵ) = ā ⋅ ( î + ĵ + 3k̂) = 1 ā =

https://dl.doubtnut.com/l/_Ao33Pruf6VTD
https://dl.doubtnut.com/l/_GW77bE1izs4y
https://dl.doubtnut.com/l/_exYa5E8hlB9t


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

î − ĵ + k̂

3 î − 3ĵ + 3k̂

î + ĵ + 2k̂

3

3 î − 3ĵ + k̂

3

23. If  is perpendicular to , then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

c̄ = 5ā − 4b̄ and ā b̄ c2 =

5a2 + 4b2

5a2 + 16b2

25a2 + 16b2

0

https://dl.doubtnut.com/l/_exYa5E8hlB9t
https://dl.doubtnut.com/l/_Tqpc9phOUm3O


24. If  and the angle between  is ,

then =

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

c̄ = 2ā + 5b̄, |ā| = a, ∣∣b̄∣∣ = b ā and b̄
π

3

c2

4a2 + 10ab + 25b2

a2 + 10ab + 5b2

4a + 10ba + 25b2

4a + 10ab + b2

25. If the angle between  is , then 

A. 

B. 

C. 

b̄ and c̄ and ā = b̄ + 4c̄
π

3
a2 =

b2 + bc + c2

b2 + 4bc + 5b2

b2 + 4bc + 16c2

https://dl.doubtnut.com/l/_Tqpc9phOUm3O
https://dl.doubtnut.com/l/_SSNdbQn3lnuT
https://dl.doubtnut.com/l/_UvO26I2CdQ53


D. 

Answer: C

Watch Video Solution

b2 + 8bc + 16c2

26. If the angle between  is , then 

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

ā and b̄ and c̄ = 3ā − 3b̄
P1
4

c2 =

9a2 + √2ab + 4b2

9a2 − 6√2ab + 4b2

9a2 − 6ab + 4b2

9a2 + b2 + 6ab

27. If the angle between  is , then →
a and

→
b and

→
c =

→
a + 3

→
b

π

6
c2 =

https://dl.doubtnut.com/l/_UvO26I2CdQ53
https://dl.doubtnut.com/l/_xAnaC7Yy0g6X
https://dl.doubtnut.com/l/_lgcXrAUK2SY1


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

a2 + √3ab + ab2

a2 + 2√3ab + b2

a2 + 3ab + b2

a2 + 3√3ab + 9b2

28. If  and angle between  is 

then 

A. 

B. 

C. 

D. 

Answer: B

b̄ = ā − 4c̄ ā and c̄ and a = 2, c = 1
π

6

b2 =

20 − √3

20 − 8√3

16 − 4√3

15 − √3

https://dl.doubtnut.com/l/_lgcXrAUK2SY1
https://dl.doubtnut.com/l/_Y2d52Wf2l9xu


Watch Video Solution

29. If the position vectors of the vertices of a triangle be

, then the triangle is

A. right angled

B. isosceles

C. equilateral

D. right angled isosceles

Answer: D

Watch Video Solution

2 î + 4ĵ − k̂, 4 î + 5ĵ + k̂ and 3 î + 6ĵ − 3k̂

30. If  are vertices of a

triangle, then it is

A. only isosceles

7ĵ + 10k̂, − î + 6ĵ + 6k̂ and − 4 î + 9ĵ + 6k̂

https://dl.doubtnut.com/l/_Y2d52Wf2l9xu
https://dl.doubtnut.com/l/_k6x98ajYaITL
https://dl.doubtnut.com/l/_Dx46RWU9OnF8


B. only right angled

C. equilateral

D. isosceles right angled

Answer: D

Watch Video Solution

31. Let  be distinct real numbers. The points with position vectors 

A. are collinear

B. form an equilateral triangle

C. form a right angled triangle

D. form a scalene triangle

Answer: B

Watch Video Solution

α, β, γ

αî + βĵ + γk̂, β î + γĵ + αk̂, γ î + αĵ + βk̂

https://dl.doubtnut.com/l/_Dx46RWU9OnF8
https://dl.doubtnut.com/l/_BjUPlEIi7yJl


32. The perimeter of the triangle with sides

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3 î + 4ĵ + 5k̂, 4 î − 3ĵ + 5k̂ and 7 î + ĵ

√450

√150

√50

√200

33. The perimeter of the triangle whose vertices have the position vectors

 is

A. 

B. 

î + ĵ + k̂, 5 î + 3ĵ − 3k̂ and 2 î + 5ĵ + 9k̂

15 + √157

16 + √157

https://dl.doubtnut.com/l/_BjUPlEIi7yJl
https://dl.doubtnut.com/l/_oyHr1f9Aoqp6
https://dl.doubtnut.com/l/_GNeRMBOUW3bZ


C. 

D. 

Answer: A

Watch Video Solution

15 − √157

√15 − √157

34. Let , then

A. 

B.  are coplanar

C. 

D. 

Answer: B

Watch Video Solution

λ̄ = ā × (b̄ + c̄), ¯̄μ = b̄ × (c̄ + ā), γ̄ = c̄ × (ā + b̄)

λ̄ + ¯̄μ = γ̄

λ̄, ¯̄μ, γ̄

λ̄ + γ̄ = 2¯̄μ

λ̄ + γ̄ = ¯̄μ

https://dl.doubtnut.com/l/_GNeRMBOUW3bZ
https://dl.doubtnut.com/l/_Yotm1AoXDfvS


35. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∣
∣
∣

ā ⋅ ā ā ⋅ b̄

ā ⋅ b̄ b̄ ⋅ b̄

∣
∣
∣

=

0

a2b2

∣∣ā × b̄∣∣
2

(ā ⋅ b̄)

36. The value of 

A. 

B. 

C. 

D. 

∣
∣
∣
∣
∣

ā ⋅ ā ā ⋅ b̄ ā ⋅ c̄

b̄ ⋅ ā b̄ ⋅ b̄ b̄ ⋅ c̄

c̄ ⋅ ā c̄ ⋅ b̄ c̄ ⋅ c̄

∣
∣

∣

∣
∣

=

−[ ā b̄ c̄ ]

2[ ā b̄ c̄ ]

[ ā b̄ c̄ ]
2

[ ā b̄ c̄ ]

https://dl.doubtnut.com/l/_IuAJDtlM0WMK
https://dl.doubtnut.com/l/_5wnyzb6Ai7hO


Answer: C

View Text Solution

37. If  be three vecotrs such that ,

then

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ā, b̄, c̄ ā × b̄ = c̄, b̄ × c̄ = ā, c̄ × ā = b̄

|ā| = ∣∣b̄∣∣

∣∣b̄∣∣ = |c̄|

|ā| = |c̄|

|ā| = ∣∣b̄∣∣ = |c̄|

38. If  are collinear vectors such that

the angle made by  with positive Z-axis is acute , then 

|ā| = 50 and b̄ = 6 î − 8ĵ − k̂
15

2

ā ā =

https://dl.doubtnut.com/l/_5wnyzb6Ai7hO
https://dl.doubtnut.com/l/_yTbx3bytmlli
https://dl.doubtnut.com/l/_SDtKJ4CgnL62


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

−12 î + 16ĵ + 15k̂

12 î − 16ĵ − 15k̂

−24 î + 32ĵ + 30k̂

24 î − 32ĵ − 30k̂

39. If  are the position vectors of the points 

 are collinear, then m=

A. 

B. 

C. 

D. 

Answer: B

ā and b̄

(1, − 1), ( − 2, m) and ā, b̄

−2

2

3

−3

https://dl.doubtnut.com/l/_SDtKJ4CgnL62
https://dl.doubtnut.com/l/_0c98PZoQB1dZ


Watch Video Solution

40. If the vectors  are collinear, then find

the value p.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3 î − 5ĵ + k̂ and 9 î − 15ĵ + pk̂

−3

3

−1

3

1

3

41. If the vectors  are collinear, then of q

is

A. 

2 î − qĵ + 3k̂ and 4 î − 5ĵ + 6k̂

5

https://dl.doubtnut.com/l/_0c98PZoQB1dZ
https://dl.doubtnut.com/l/_8Uhox2ChwOlI
https://dl.doubtnut.com/l/_Vv84S1utHFBH


B. 

C. 

D. 

Answer: C

Watch Video Solution

10

5

2

5

4

42. The value of k for which the vectors 

are colllinear is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ā = î − ĵ and b̄ = − 2 î + kĵ

2

3

1

3

1

2

https://dl.doubtnut.com/l/_Vv84S1utHFBH
https://dl.doubtnut.com/l/_8NwqJmvnM5dk


43. Let  be non-collinear. If 

 are collinear, then x=

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

ā and b̄

c̄ = (x − 2)ā + b̄ and d̄ = (2x + 1)ā − b̄

−2

3

2

3

−1

3

1

3

44. If the points  are

collinear, then p=

A. 

B. 

A(3, 2, − 4), B(9, 8, − 10) and C( − 2, − 3. p)

9

−9

https://dl.doubtnut.com/l/_8NwqJmvnM5dk
https://dl.doubtnut.com/l/_PKozpDvwtfkF
https://dl.doubtnut.com/l/_44OoPqKWJeq9


C. 

D. 

Answer: C

Watch Video Solution

1

−1

45. If the points  are collinear , then

p=

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A(4, 5, 2), B(3, 2, p) and C(5, 8, 0)

−4

4

0

2

https://dl.doubtnut.com/l/_44OoPqKWJeq9
https://dl.doubtnut.com/l/_TAOf3nxHryl1
https://dl.doubtnut.com/l/_wMzsCkeN6IUU


46. If the points  are

collinear, then k= . . . . . . . .

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A(2, 1, 1, ), B(0, − 1, 4) and C(k, 3, − 2)

0

1

4

−4

47. If the points  are

collinear, then p=

A. 

B. 

C. 

A(5, − 6, − 2), B(p, 2, 4) and C(3, − 2, 1)

−4

4

−1

https://dl.doubtnut.com/l/_wMzsCkeN6IUU
https://dl.doubtnut.com/l/_zmHu12fH0FxI


D. 

Answer: D

Watch Video Solution

1

48. If the points  are

collinear, then p=

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A(1, − 2, 3), B(2, 3, − 4) and C(0, − p, 10)

7

−7

5

−5

https://dl.doubtnut.com/l/_zmHu12fH0FxI
https://dl.doubtnut.com/l/_x2zURJc4LJaC


49. If the points  are collinear,

then p=

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A(1, − 2, 2), B(3, 1, 1) and C( − 1, p, 3)

5

−5

1

−1

50. If  are collinear ,

then 

A. 

B. 

C. 

P (5, 6, − 1), Q(2, − 7, β) and R( − 1, − 20, 7)

β =

2

3

5

https://dl.doubtnut.com/l/_Ta983jmro6N3
https://dl.doubtnut.com/l/_IFm8flGKTnoC


D. 

Answer: B

Watch Video Solution

0

51. If the points A(3,0,p),B(-1,q,3) and C(-3,3,0) are collinear, then find 

(1) the ratio in which the points C divides the line segment AB 

(2) the value of p and q.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

p = 9, q = 2

p = 9, q = − 2

p = − 9, q = − 2

p = − 9, q = 2

https://dl.doubtnut.com/l/_IFm8flGKTnoC
https://dl.doubtnut.com/l/_fiVPaXVoemFp
https://dl.doubtnut.com/l/_k51K1yIgYrCk


52. If the points with position vectors 

are collinear, find the value of 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

60 î + 2ĵ, 40 î − 8ĵandaî − 52ĵ

a.

a = − 40

a = 40

a = 20

a = 30

53. The points with position vectors  are

collinear for

A. all real values of k

B. all positive values of k

C. all negative values of k

ā + b̄, ā − b̄ and ā + kb̄

https://dl.doubtnut.com/l/_k51K1yIgYrCk
https://dl.doubtnut.com/l/_bTM4opzkBeIT


D. 

Answer: A

Watch Video Solution

k = ± 1

54. If the position vectors of the points A,B and C be a,b and 3a-2b

respectively, then prove that the points A,B and C are collinear.

A. collinear

B. non-collinear

C. form a right angled triangle

D. non-coplanar

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_bTM4opzkBeIT
https://dl.doubtnut.com/l/_Dn4gRyQbVbOO


55. If position vectors of four points A, B, C, D are

 respectively, then 

 are related as

A. perpendicualr

B. parallel

C. independent

D. 

Answer: B

Watch Video Solution

î + ĵ + k̂, 2 î + 3ĵ, 3 î + 5ĵ − 2k̂, − ĵ + k̂

¯̄̄ ¯̄¯AB and ¯̄¯̄¯̄CD

¯̄̄ ¯̄¯AB ⋅ ¯̄¯̄¯̄CD = 6

56. If

, then

A. 

ā = î − 2ĵ + 3k̂, b̄ = 2 î + 3ĵ − 4k̂, c̄ = 4 î + 13ĵ − 18k̂ and c̄ = āx + yb̄

x = 2, y = 3

https://dl.doubtnut.com/l/_EvqyXpz7Pkeh
https://dl.doubtnut.com/l/_bIIm5qCB7sWj


B. 

C. 

D. 

Answer: D

Watch Video Solution

x = − 2, y = − 3

x = 2, y = − 3

x = − 2, y = 3

57. If

, then

A. 

B. 

C. 

D. 

Answer: A

ā = − î − ĵ + 2k̂, b̄ = 3 î + ĵ − k̂, c̄ = 9 î + ĵ + 2k̂ and c̄ = xā + yb̄

x = 3, y = 4

x = 3, y = − 4

x = − 3, y = 4

x = − 3, y = − 4

https://dl.doubtnut.com/l/_bIIm5qCB7sWj
https://dl.doubtnut.com/l/_7cFS0mRelgoX


Watch Video Solution

58. If ,

then m+n=

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ā = î − ĵ − 2k̂, b̄ = 2 î − ĵ − k̂, c̄ = 3 î − k̂ and c̄ = mā + nb̄

0

1

2

−1

59. If , then

A. 

B. 

ā = î + 3ĵ, b̄ = 2 î + 5ĵ, c̄ = 4 î + 2ĵ and c̄ = t1ā + t2 b̄

t1 = − 16, t2 = − 10

t1 = − 16, t2 = 10

https://dl.doubtnut.com/l/_7cFS0mRelgoX
https://dl.doubtnut.com/l/_eTyOU68aXB0V
https://dl.doubtnut.com/l/_UqZcAu9VeMMw


C. 

D. 

Answer: B

Watch Video Solution

t1 = 16, t2 = − 10

t1 = 16, t2 = 10

60. If , then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ā = î + 2ĵ, b̄ = − 2 î + ĵ, c̄ = 4 î + 3ĵ and c̄ = xā + yb̄

x = 2, y = 1

x = − 2, y = 1

x = 2, y = − 1

x = − 2, y = − 1

https://dl.doubtnut.com/l/_UqZcAu9VeMMw
https://dl.doubtnut.com/l/_1l4I6jGUuntX


61. If

, then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ā = 2 î − ĵ + 3k̂, b̄ = î − 2ĵ + 4k̂, c̄ = − î + 3ĵ − 5k̂ and d̄ = î + 4ĵ −

x = 3, y = 2, z = 1

x = 2, y = 3, z = 1

x = 1, y = 2, z = 3

x = 1, y = 3, z = 2

62. If

, then

A. 

ā = 2 î + ĵ − 4k̂, b̄ = 2 î − ĵ + 3k̂, c̄ = 3 î + ĵ − 2k̂ and d̄ = − î − 3ĵ +

x = 2, y = − 2, z = 3

https://dl.doubtnut.com/l/_3Gz4l670AKVM
https://dl.doubtnut.com/l/_HalnAtEyKJEy


B. 

C. 

D. 

Answer: B

Watch Video Solution

x = 2, y = 2, z = − 3

x = − 2, y = 2, z = 3

x = 2, y = 2, z = 3

63. If

, then

A. y, x, z are in AP

B. y, x/2, z are in AP

C. x, y, z are in AP

D. x, y, z are in GP

Answer: B

ā = 2 î − ĵ + k̂, b̄ = î + 3ĵ − 2k̂, c̄ = − 2 î + ĵ − 3k̂ and d̄ = 3 î + 2ĵ −

https://dl.doubtnut.com/l/_HalnAtEyKJEy
https://dl.doubtnut.com/l/_u3svqoS1XTUH


View Text Solution

64. If  are three coplanar vectors, the =

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

ā, b̄, c̄

∣
∣

∣

∣
∣

ā b̄ c̄

ā ⋅ ā ā ⋅ b̄ ā ⋅ c̄

b̄ ⋅ ā b̄ ⋅ b̄ b̄ ⋅ c̄

∣
∣

∣

∣
∣

−1

0̄

1

0

65. If  are non-coplanar and the vectors 

 are collinear then m=

A. 

ā, b̄, c̄

p̄ = ā − b̄ + c̄, q̄ = ā + b̄ − 3c̄, r̄ = ā + 4b̄ + mc̄

−9

https://dl.doubtnut.com/l/_u3svqoS1XTUH
https://dl.doubtnut.com/l/_KJpd0kNfytds
https://dl.doubtnut.com/l/_yKRMiBVRM5r6


B. 

C. 

D. 

Answer: D

View Text Solution

9

−11

11

66. If  are non-coplanar and the vectors 

 are collinear

then m=

A. 

B. 

C. 

D. 

Answer: C

ā, b̄, c̄

p̄ = 2ā − 4b̄ + 4c̄, q̄ = ā + mb̄ + 4c̄, r̄ = − ā + 2b̄ + 4c̄

6

−6

2

−2

https://dl.doubtnut.com/l/_yKRMiBVRM5r6
https://dl.doubtnut.com/l/_Pulo92G9GLqd


View Text Solution

67. If  are non-coplanar and the vectors 

 are collinear

then m=

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

ā, b̄, c̄

p̄ = 3ā + b̄ + 4c̄, q̄ = 2ā + 2b̄ + 3c̄, r̄ = ā + 3b̄ + mc̄

3

−3

5

−5

68. If  are position vectors points P

and Q. find the position vector of the points R which divides segment PQ

internally in the ratio 2:1.

p̄ = î − 2ĵ + k̂ and q̄ = î + 4ĵ − 2k̂

https://dl.doubtnut.com/l/_Pulo92G9GLqd
https://dl.doubtnut.com/l/_uWZolMMWziQT
https://dl.doubtnut.com/l/_XCFPKVWOsIH4


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

î − 2ĵ − k̂

î − 2ĵ + k̂

î − 2ĵ − k̂

î + 2ĵ + k̂

69. If  are position vectors points P

and Q. find the position vector of the points R which divides segment PQ

internally in the ratio 2:1.

A. 

B. 

C. 

D. 

p̄ = î − 2ĵ + k̂ and q̄ = î + 4ĵ − 2k̂

(1, 2, 1)

(1, − 2, − 1)

(1, − 2, 1)

(1, 2, − 1)

https://dl.doubtnut.com/l/_XCFPKVWOsIH4
https://dl.doubtnut.com/l/_GNYvKi2N0De0


Answer: B

Watch Video Solution

70. If  are the position vectors of points

A, B respectively and points  divides the line segment AB internallly

in the ratio 1:4 , then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ā = 2 î − ĵ + 5k̂, b̄ = − 3 î + 2ĵ

C(c̄)

c̄ =

î − ĵ − 4k̂
2

5

î − ĵ + 4k̂
2

5

î + ĵ − 4k̂
2

5

î + ĵ + 4k̂
2

5

https://dl.doubtnut.com/l/_GNYvKi2N0De0
https://dl.doubtnut.com/l/_kAHcBu7prKvz


71. Find the corrdinates of the point which divides the line segment

joining the points A(2,-6,8) and B (-1,3,-4) externally in the ratio 1:3.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

( , , 1)
1

4

−3

4

( , , − 1)
1

4

−3

4

( , , 5)
5

4

−15

4

( , , − 5)
5

4

−15

4

72. If the point C divides the line segment joining the points

 externally in the ratio 8:5, then points C

is

A. 

B. 

A(4, − 2, 5) and B( − 2, 3, 7)

( − 12, , )
34
3

31

3

( − 12, , )
31

3
34
3

https://dl.doubtnut.com/l/_t4W75JaxWXqn
https://dl.doubtnut.com/l/_0VbSb3tOFsiJ


C. 

D. 

Answer: C

Watch Video Solution

( − 12, , )
14
3

31

3

( − 12, , )
31

3
14
3

73. If the point C divides the line segment joining the points

 externally in the ratio 3:2, then points

C is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

A(2, − 1, − 4) and B(3, − 2, 5)

(5, − 4, − 23)

(5, 4, − 23)

(5, − 4, 23)

(5, 4, 23)

https://dl.doubtnut.com/l/_0VbSb3tOFsiJ
https://dl.doubtnut.com/l/_yY7mv8ar9Qfc


74. Find the corrdinates of the point which divides the line segment

joining the points A(2,-6,8) and B (-1,3,-4) externally in the ratio 1:3.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

( , , 14)
−7
2

−21

2

( , , − 14)
7
2

−21

2

( , , − 14)
−7
2

21

2

( , , 14)
7
2

−21

2

75. The co-ordinates of the points which trisects the line segment joining

the points  are

A. 

B. 

A(2, 1, 4) and B( − 1, 3, 6)

( − 1, , ), (0, , )
5

3
14
3

7
3

16

3

(1, , ), (0, , )
5

3
14
3

−7
3

16

3

https://dl.doubtnut.com/l/_yY7mv8ar9Qfc
https://dl.doubtnut.com/l/_t1alqQbW0cH4
https://dl.doubtnut.com/l/_lX23FDcP24Bf


C. 

D. 

Answer: D

Watch Video Solution

(1, , ), (0, , )
5

3
14
3

7
3

16

3

( − 1, , ), (0, , )
5

3
14
3

−7
3

16

3

76. If the position vectors of points P, Q, R and

, then

A. R divides QP in internally in the ratio 5:3

B. R divides QP in externally in the ratio 5:3

C. R divides QP in internally in the ratio 5:3

D. R divides QP in externally in the ratio 5:3

Answer: A

Watch Video Solution

¯̄̄P , q̄ , r̄  are r̄ =
5p̄ − 3q̄

2

https://dl.doubtnut.com/l/_lX23FDcP24Bf
https://dl.doubtnut.com/l/_KK20LoY0nxuX
https://dl.doubtnut.com/l/_5ibFG1OjSKqk


77. If the position vectors of points P, Q, R and ,

then

A. R divides QP in internally in the ratio 2:2

B. R divides QP in externally in the ratio 2:2

C. R divides QP in internally in the ratio 3:2

D. R divides QP in externally in the ratio 3:2

Answer: B

View Text Solution

¯̄̄P , q̄ , r̄  are r̄ =
2p̄ + q̄

3

78. If the position vectors of points A, B, C and 

, then

A. C divides BA in internally in the ratio 7:3

B. C divides BA in externally in the ratio 7:3

C. C divides AB in internally in the ratio 7:3

ā, b̄, c̄  are  c̄ =
7ā − 3b̄

4

https://dl.doubtnut.com/l/_5ibFG1OjSKqk
https://dl.doubtnut.com/l/_MPumaoKEtQWH


D. C divides AB in internally in the ratio 7:3

Answer: B

Watch Video Solution

79. If the position vectors of points A, B, C and ,

then

A. C divides BA in internally in the ratio 5:4

B. C divides BA in externally in the ratio 4:5

C. C divides AB in internally in the ratio 5:4

D. C divides AB in externally in the ratio 5:4

Answer: D

Watch Video Solution

ā, b̄, c̄  are  c̄ = 5ā − 4b̄

https://dl.doubtnut.com/l/_MPumaoKEtQWH
https://dl.doubtnut.com/l/_IKR2UA0cr8Fb


80. If the points  are collinear and ,

then

A. C divides BA in internally in the ratio 2:3

B. C divides BA in externally in the ratio 2:3

C. C divides AB in internally in the ratio 3:2

D. C divides AB in externally in the ratio 3:2

Answer: C

Watch Video Solution

A(ā), B(b̄), C(c̄) 2ā + 3b̄ − 5c̄ = 0̄

81. If  are position vectors of points A, B, C respectively such that 

, then C divides AB,

A. externally in the ratio 3:5

B. internally in the ratio 3:5

C. externally in the ratio 5:3

ā, b̄, c̄

3ā + 5b̄ = 8c̄

https://dl.doubtnut.com/l/_jH1Pqb9ZXIiD
https://dl.doubtnut.com/l/_WBXxbKqR41wW


D. internally in the ratio 5:3

Answer: D

Watch Video Solution

82. If  are position vectors of points A, B, C respectively such that 

then A divides BC

A. externally in the ratio 5:8

B. internally in the ratio 5:8

C. externally in the ratio 8:5

D. internally in the ratio 8:5

Answer: C

Watch Video Solution

ā, b̄, c̄

3ā + 5b̄ = 8c̄

https://dl.doubtnut.com/l/_WBXxbKqR41wW
https://dl.doubtnut.com/l/_Xwp4P4BUgcXX


83. If  are position vectors of points A, B, C respectively such that 

, then

A. C divides BA in internally in the ratio 5:3

B. C divides BA in externally in the ratio 5:3

C. C divides AB in internally in the ratio 5:3

D. C divides AB in internally in the ratio 5:3

Answer: B

Watch Video Solution

ā, b̄, c̄

5ā − 3b̄ − 2c̄ = 0

84. If the points  are collinear and ,

then

A. Three points forms triangles ABC

B. C is the mid-point of seq. AB

C. C divides AB internally in ratio 2:3

A(ā), B(b̄), C(c̄) 3ā + 2b̄ − 5c̄ = 0̄

https://dl.doubtnut.com/l/_VIfV7DyKhdl6
https://dl.doubtnut.com/l/_vaSldvAZgEE2


D. C divides AB externally in ratio 3:2

Answer: C

Watch Video Solution

85. Find the position vector of the point which divides the join of the

points  and  (i) internally and (ii) externally in

the ratio  .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(2
→
a − 3

→
b ) (3

→
a − 2

→
b )

2: 3

12ā

−12ā

5b̄

−5b̄

https://dl.doubtnut.com/l/_vaSldvAZgEE2
https://dl.doubtnut.com/l/_AEa5agADjgiF
https://dl.doubtnut.com/l/_BGDw4Iq1S8wj


86. If the points  are collinear, then

A. C divides AB externally in ratio 1:3

B. C divides AB internally in ratio 1:3

C. C divides AB externally in ratio 3:1

D. C divides AB internally in ratio 3:1

Answer: C

Watch Video Solution

A(3, 0, p), B( − 1, q, 3), C( − 3, 3, 0)

87. If the points  are collinear, then

A. C divides AB externally in ratio 1:2

B. C divides AB internally in ratio 1:2

C. C divides AB externally in ratio 2:1

D. C divides AB internally in ratio 2:1

A(2, p, 1), B(1, 2, q), C(3, 2, 1)

https://dl.doubtnut.com/l/_BGDw4Iq1S8wj
https://dl.doubtnut.com/l/_ZzdjiuiRSFhl


Answer: A

Watch Video Solution

88. If the points  are collinear, then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A(2, p, 1), B(1, 2, q), C(3, 2, 1)

p = 1, q = 2

p = 2, q = 1

p = − 1, q = − 2

p = − 2, q = − 1

89. If the points  are collinear,

then

A(3, 2, p), B(q, 8, − 10), C( − 2, − 3, 1)

https://dl.doubtnut.com/l/_ZzdjiuiRSFhl
https://dl.doubtnut.com/l/_idpVyIfr14dD
https://dl.doubtnut.com/l/_QjjN5vhTtMKn


A. C divides BA in internally in the ratio 11:5

B. C divides BA in externally in the ratio 11:5

C. C divides AB in internally in the ratio 5:11

D. C divides AB in externally in the ratio 5:11

Answer: D

Watch Video Solution

90. If the points  are collinear,

then

A. 

B. 

C. 

D. 

Answer: B

A(3, 2, p), B(q, 8, − 10), C( − 2, − 3, 1)

p = − 4, q = − 9

p = − 4, q = 9

p = 4, q = 9

p = 4, q = 9

https://dl.doubtnut.com/l/_QjjN5vhTtMKn
https://dl.doubtnut.com/l/_kPs3lQ8RknHB


Watch Video Solution

91. In  D divides BC in the ratio l:m, G divides AD in the ratio

(l+m):n then the position vector of G is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

△ ABC,

mc̄ + lb̄

m + l

mc̄ − lb̄

m + l

lc̄ + mb̄

m + l

lc̄ − lb̄

m − l

92. In  D divides BC in the ratio l:m, G divides AD in the ratio

(l+m):n then the position vector of G is

A. 

△ ABC,

mc̄ + nb̄ + lā

m + n + l

https://dl.doubtnut.com/l/_kPs3lQ8RknHB
https://dl.doubtnut.com/l/_qWqALWerQ58J
https://dl.doubtnut.com/l/_7xapgt171mKC


B. 

C. 

D. 

Answer: D

Watch Video Solution

lā + mb̄ + nc̄

m + n + l

nc̄ + lb̄ + mā

m + n + l

lc̄ + mb̄ + nā

m + n + l

93. The positon vectors of points P, Q, R are given by

. If the points

P, Q, R are collinear, then the ratio in which point P divides the line

segment RQ is

A. 

B. 

C. 

D. 

p̄ = ā − 2b̄ + 3c̄, q̄ = − 2ā + 3b̄ + 2c̄, r̄ = − 8ā + 13b̄

−3: 1

3: 1

−1: 3

1: 3

https://dl.doubtnut.com/l/_7xapgt171mKC
https://dl.doubtnut.com/l/_LDh0XQjXChRl


Answer: A

Watch Video Solution

94. In  if the points P, Q, R divides the sides BC, CA, AB in the

ratio 1:4, 3:2, 3:7 respectively and the point S divides side AB in the ratio

1:3, then =

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

△ ABC,

(¯̄̄ ¯̄¯AP + ¯̄¯̄̄ ¯BQ + ¯̄̄ ¯̄¯CR) : (¯̄¯̄¯CS)

2: 5

5: 2

4: 5

5: 4

https://dl.doubtnut.com/l/_LDh0XQjXChRl
https://dl.doubtnut.com/l/_Q58OobrNUdJp


95. If the origin is the centroid of the triangle whose vertices are A (2,p,-3),

B(q,-2,5) and C(-5,1,r), then find the values of p,q and r.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

p = 1, q = − 3, r = − 2

p = 1, q = 3, r = − 2

p = 1, q = 3, r = 2

p = − 1, q = − 3, r = − 2

96. If G(a,2,-1) is the centroid of the triangle with vertices P(1,3,2),Q(3,b,-4)

and R(5,1,c), then find the values of a,b and c.

A. 

B. 

C. 

a = 3, b = 2, c = − 1

a = 3, b = − 2, c = 1

a = 3, b = 2, c = 1

https://dl.doubtnut.com/l/_MAe5bSzQrFKd
https://dl.doubtnut.com/l/_5AQlKVniLe0A


D. 

Answer: A

Watch Video Solution

a = 3, b = − 2, c = − 1

97. If  is centroid of the triangle having vertices 

, then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

G(r, , )
−4
3

1

3

A(5, 1, p), B(1, q, p), C(1, − 2, 3)

p = − 1, q = − 3, r =
7
3

p = 1, q = − 3, r =
7
3

p = − 1, q = 3, r =
7
3

p = 1, q = 3, r =
7
3

https://dl.doubtnut.com/l/_5AQlKVniLe0A
https://dl.doubtnut.com/l/_XDkKzN8OzQ5S


98. If  is the centroid triangle ABC whose two vertices are 

, then the third vertex is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

G( − 1, 2, 1)

A(3, 1, 4), B( − 4, 5, − 3)

(2, 0, − 2)

( − 2, 0, 2)

( − 2, 0, − 2)

(2, 0, 2)

99. If  are the vertices and 

 is the centroid of , then x=

A. 

B. 

C. 

A(2, − 2, 3), B(x, 4, − 1), C(3, x, − 5)

G(2, 1, − 1) △ ABC

−3

−1

1

https://dl.doubtnut.com/l/_U00rzxG4bbCj
https://dl.doubtnut.com/l/_O0K8RcwbFwA0


D. 

Answer: C

Watch Video Solution

11

100. If  are two vertices A and B and 

 is the centroid of the , then the mid-point of

side BC is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A(1, 4, 2), B( − 2, 3, − 5)

G( , 0, )
4
3

−2

3
△ ABC

( , − 2, − 2)
3

2

(2, 1, )
3

2

( − 3, 1, − 1)

(3, 1, 1)

https://dl.doubtnut.com/l/_O0K8RcwbFwA0
https://dl.doubtnut.com/l/_8eZPUawVpDTV
https://dl.doubtnut.com/l/_diTPxIRANYwz


101. The incentre of triangle whose vertices are

 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

A(0, 3, 0), B(0, 0, 4), C(0, 3, 4)

(0, 24, 36)

(0, 36, 24)

(0, 3, 2)

(0, 2, 3)

102. The incentre of triangle whose vertices are

 is

A. 

B. 

C. 

A(0, 3, 0), B(0, 0, 4), C(0, 3, 4)

(0, 2, 3)

(0, 3, 2)

(0, 9, 6)

https://dl.doubtnut.com/l/_diTPxIRANYwz
https://dl.doubtnut.com/l/_4HZ9LOTYy0Hi


D. 

Answer: B

Watch Video Solution

(0, 6, 9)

103. The incentre of triangle whose vertices are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

P (0, 2, 1), Q( − 2, 0, 0), R( − 2, 0, 2)

( , , 1)
−3

2

1

2

( , , 1)
3

2

−1

2

( , , 1)
−3

2

−1

2

( , , 1)
3

2

1

2

https://dl.doubtnut.com/l/_4HZ9LOTYy0Hi
https://dl.doubtnut.com/l/_Q38y6N112k4w


104. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

¯̄¯̄̄ ¯PQ − ¯̄̄¯̄¯TQ + ¯̄¯̄¯PS + ¯̄¯̄¯ST =

2̄ ¯̄̄¯̄PT

2̄ ¯̄¯̄ST

2̄ ¯̄̄¯̄QS

¯̄̄ ¯̄¯PT

105. 

A. 

B. 

C. 

D. 

¯̄̄ ¯̄¯AB − ¯̄̄ ¯̄¯CB + ¯̄¯̄¯̄DA + 2̄ ¯̄¯̄¯CD =

¯̄̄ ¯̄¯CB

6̄ ¯̄̄ ¯̄OC

¯̄¯̄¯̄CD

¯̄̄ ¯̄¯AC

https://dl.doubtnut.com/l/_F6X17fnM8JdN
https://dl.doubtnut.com/l/_eClKnsbefL3Q


Answer: C

Watch Video Solution

106. If A, B, C, D, E are five coplanar points, then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

¯̄¯̄¯̄DA + ¯̄¯̄¯̄DB + ¯̄¯̄¯̄DC + ¯̄̄ ¯̄¯AE + ¯̄̄ ¯̄¯BE + ¯̄̄ ¯̄¯CE =

¯̄¯̄¯̄DE

3̄ ¯̄¯̄¯DE

2̄ ¯̄¯̄¯DE

4̄ ¯̄¯̄¯ED

107. If  are position verctors of A and B respectively, then the

position vector of point C in produced AB such that  is

ā and b̄

¯̄̄ ¯̄¯AC = 3̄ ¯̄̄ ¯̄AB

https://dl.doubtnut.com/l/_eClKnsbefL3Q
https://dl.doubtnut.com/l/_T2IqPR8PSvYK
https://dl.doubtnut.com/l/_cseoND6GszLZ


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3ā − b̄

3b̄ − ā

3ā − 2b̄

3b̄ − 2ā

108. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

¯̄̄ ¯̄¯OA + 6̄ ¯̄̄ ¯̄BC + ¯̄̄ ¯̄¯AB + 5̄ ¯̄̄ ¯̄OB =

¯̄̄ ¯̄¯OC

6̄ ¯̄̄ ¯̄OC

¯̄̄ ¯̄¯BC

¯̄¯̄¯̄CD

https://dl.doubtnut.com/l/_cseoND6GszLZ
https://dl.doubtnut.com/l/_GcJcquI1n0gg


109. If 
 are the mid points of the side 
 and 

respectively of a triangle ABC, write the value of 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

D,  E,  F BC,  CA AB

→
A D +

→
BE +

→
C F .

¯̄̄ ¯̄¯OA

¯̄̄ ¯̄¯AC

¯̄̄ ¯̄¯AF

¯̄̄O

110. In triangle ABC, if , then 

A. 

B. 

C. 

2̄ ¯̄̄ ¯̄AC = 3̄ ¯̄̄ ¯̄CB 2̄ ¯̄̄ ¯̄OA + 3̄ ¯̄̄ ¯̄OB =

5̄ ¯̄̄ ¯̄OC

−¯̄̄ ¯̄¯OC

¯̄̄ ¯̄¯OC

https://dl.doubtnut.com/l/_GcJcquI1n0gg
https://dl.doubtnut.com/l/_FhA8uqkbywTd
https://dl.doubtnut.com/l/_HdWVbaFQgXYn


D. 

Answer: A

Watch Video Solution

3̄ ¯̄̄ ¯̄OC

111. If C is the mid-point of AB and P is any point outside AB, then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

¯̄̄ ¯̄¯PA + ¯̄̄ ¯̄¯PB = ¯̄̄ ¯̄¯PC

¯̄̄ ¯̄¯PA + ¯̄̄ ¯̄¯PB + ¯̄̄ ¯̄¯PC = 0

¯̄̄ ¯̄¯PA + ¯̄̄ ¯̄¯PB = 2̄ ¯̄̄ ¯̄PC

¯̄̄ ¯̄¯PA + ¯̄̄ ¯̄¯PB + 2̄ ¯̄̄ ¯̄PC = 0

https://dl.doubtnut.com/l/_HdWVbaFQgXYn
https://dl.doubtnut.com/l/_ltKPLFDLqhZF


112. If  are the vertices of a triangle whose position vectros are 

 is the centroid of the  then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A, B, C

→
a ,

→
b ,

→
c and G ΔABC,

¯̄¯̄̄ ¯GA + ¯̄¯̄̄ ¯GB + ¯̄¯̄̄ ¯GC =

¯̄̄O

3̄ ¯̄̄ ¯̄GA

3̄ ¯̄̄ ¯̄GA

3̄ ¯̄̄ ¯̄GC

113. D, E, F are the midpoints of the sides BC, CA and AB respectively of

 and O is any point in the plane of . Show that 


(1)  


(2) 

△ ABC △ ABC

¯̄¯̄¯̄AD + ¯̄̄ ¯̄¯BE + ¯̄̄ ¯̄¯CF = 0̄

¯̄¯̄¯̄AD + ¯̄̄ ¯̄¯BE + ¯̄̄ ¯̄¯CF = ¯̄̄ ¯̄¯AC.
1

3

1

3

1

2

https://dl.doubtnut.com/l/_iWsZ6CBozy02
https://dl.doubtnut.com/l/_aEmsEWTFDwQA


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

¯̄̄ ¯̄¯AB = 2̄ ¯̄¯̄¯ED

¯̄̄ ¯̄¯AB = 2̄ ¯̄¯̄¯DE

¯̄̄ ¯̄¯AB = ¯̄¯̄¯̄ED

¯̄̄ ¯̄¯AB = ¯̄¯̄¯̄DE

114. if D,E and F are the mid-points of the sides BC,CA and AB respectively

of the  be any points, then prove that 


A. 

B. 

C. 

D. 

ΔABCa ∩ dO

OA + OB + OC = OD + OE + OF

¯̄̄ ¯̄¯OA

¯̄̄ ¯̄¯OB

¯̄̄ ¯̄¯EF

¯̄¯̄¯̄DE

https://dl.doubtnut.com/l/_aEmsEWTFDwQA
https://dl.doubtnut.com/l/_4Ok74IrgU73t


Answer: A

Watch Video Solution

115. X and Y are points on the sides AB and BC respectively of 

such that XY||AC and XY divides  into two parts in area , find 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

△ ABC

△ ABC

AX

AB

¯̄̄ ¯̄¯EF = 2̄ ¯̄̄ ¯̄BC

¯̄̄ ¯̄¯EF = ¯̄̄ ¯̄¯BC

¯̄̄ ¯̄¯EF = ¯̄̄ ¯̄¯BC
1

2

¯̄̄ ¯̄¯EF = ¯̄̄ ¯̄¯BC
1

3

https://dl.doubtnut.com/l/_4Ok74IrgU73t
https://dl.doubtnut.com/l/_f6ktQa9aeI7Y


116. If D, E, F are the mid-points of the sides BC, CA and AB respectively of

, then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

△ ABC ¯̄¯̄¯̄AD + ¯̄̄ ¯̄¯BE + ¯̄̄ ¯̄¯CF =
2

3

1

3

¯̄̄ ¯̄¯AC

¯̄̄ ¯̄¯CA

2̄ ¯̄̄ ¯̄AC

¯̄̄ ¯̄¯AC
1

2

117. If A, B, C, D are four non-collinear points in the plane such that

, then the point D is the … of triangle ABC.

A. incentre

B. centroid

C. orthocentre

¯̄¯̄¯̄AD + ¯̄¯̄¯̄BD + ¯̄¯̄¯̄CD = ¯̄̄O

https://dl.doubtnut.com/l/_AHLpRBHyyPtS
https://dl.doubtnut.com/l/_txrbU5mSao4I


D. circumcentre

Answer: B

Watch Video Solution

118. Which of the following is trues?

A. The perpendicular bisectors of the sides of triangle are

perpendicular to each other

B. The perpendicular bisectors of the sides of a triangle are congruent

C. The perpendicular bisectors of the sides of the triangle are

concurrent

D. The perpendicular bisectors of the sides of a triangle are not

concurrent

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_txrbU5mSao4I
https://dl.doubtnut.com/l/_uehDj1VSG0TA


119. If  are the centroid of 

respectively, then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

G1 and G2 △ ABC and △ PQR

¯̄̄ ¯̄¯AP + ¯̄¯̄̄ ¯BQ + ¯̄̄ ¯̄¯CR =

¯̄¯̄¯̄¯̄¯G1G2

2̄ ¯̄¯̄¯̄¯̄G1G2

3̄ ¯̄¯̄¯̄¯̄G1G2

6̄ ¯̄¯̄¯̄¯̄G1G2

120. P, Q, R are the mid-points of the sides BC, AC, and AB respectively of

. If  are the centroids of the 

 respectively, then

A. 

△ ABC G1(¯̄¯g1) and G2(¯̄¯g2)

△ ABC and △ PQR

¯̄¯g1 = 3̄ ¯̄g2

https://dl.doubtnut.com/l/_uehDj1VSG0TA
https://dl.doubtnut.com/l/_y7sKrLP2ipyo
https://dl.doubtnut.com/l/_Go4amkFI4CaV


B. 

C. 

D. 

Answer: D

Watch Video Solution

¯̄¯g2 = 3̄ ¯̄g1

¯̄¯g1 = − ¯̄¯g2

¯̄¯g1 = ¯̄¯g2

121. If G is the point of concurrence of the median of , then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

△ ABC

¯̄¯̄̄ ¯GA + ¯̄¯̄̄ ¯GB + ¯̄¯̄̄ ¯GC =

3q̄

6q̄

¯̄̄O

q̄

https://dl.doubtnut.com/l/_Go4amkFI4CaV
https://dl.doubtnut.com/l/_EFLGpNM5Fd0I


122. Let G be the centroid of a triangle PQR and S be any other point, the

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

¯̄¯̄¯SP + ¯̄̄¯̄̄SQ + ¯̄¯̄¯SR =

¯̄̄O

¯̄̄ ¯̄̄SG

3̄ ¯̄̄¯̄SG

2̄ ¯̄̄¯̄GS

123. If G is the centroid of triangle ABC and L is a point on BC, such that

, then 

A. 

B. 

BL = 2LC ¯̄¯̄̄ ¯GB + 2̄ ¯̄̄ ¯̄GC =

¯̄̄¯̄¯GL

2̄ ¯̄̄¯̄GL

https://dl.doubtnut.com/l/_EFLGpNM5Fd0I
https://dl.doubtnut.com/l/_FCxu22TrhDws
https://dl.doubtnut.com/l/_UxCaxHUets1F


C. 

D. 

Answer: D

Watch Video Solution

¯̄¯̄̄ ¯OG

3̄ ¯̄̄¯̄GL

124. If G is the point of concurrence of the median of , then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

△ ABC

¯̄¯̄̄ ¯GA + ¯̄¯̄̄ ¯GB + ¯̄¯̄̄ ¯GC =

3̄ ¯̄̄ ¯̄OG

¯̄̄ ¯̄¯AB

¯̄¯̄̄ ¯OG

¯̄̄O

https://dl.doubtnut.com/l/_UxCaxHUets1F
https://dl.doubtnut.com/l/_bj38gjRKmCIO
https://dl.doubtnut.com/l/_0JgbJeTTUBhW


125. D, E and F are the mid-points of the sides BC, CA and AB respectively

of  and G is the centroid of the triangle, then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ΔABC

−−→
GD +

−−→
GE +

−−→
GF =

¯̄̄O

2(ā + b̄ + c̄)

ā + b̄ + c̄

3ḡ

126. If P is the orthocentre and Q is the circumcentre of , then 

A. 

B. 

△ (ABC)

¯̄¯̄̄ ¯QA + ¯̄¯̄̄ ¯QB + ¯̄¯̄̄ ¯QC =

2̄ ¯̄̄ ¯̄PQ

2̄ ¯̄̄ ¯̄QP

https://dl.doubtnut.com/l/_0JgbJeTTUBhW
https://dl.doubtnut.com/l/_0YyUyCnInD1A


C. 

D. 

Answer: D

Watch Video Solution

¯̄¯̄̄ ¯PQ

¯̄¯̄̄ ¯QP

127. If P is the orthocentre and Q is the circumcentre of , then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

△ ABC

¯̄̄ ¯̄¯PA + ¯̄̄ ¯̄¯PB + ¯̄̄ ¯̄¯PC =

¯̄¯̄̄ ¯PQ

¯̄¯̄̄ ¯PQ

2̄ ¯̄̄ ¯̄PQ

¯̄¯̄̄ ¯PQ

https://dl.doubtnut.com/l/_0YyUyCnInD1A
https://dl.doubtnut.com/l/_ip92JyR0RHPF
https://dl.doubtnut.com/l/_JQLkZ2B7jX3k


128. IF  are centroid orthocenter and circumenter

of a triangle and  then (x,y,z)=

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

G(ḡ), H(h̄) and p(p̄)

xp̄ + yh̄ + zḡ = 0̄

(1, 1, − 2)

(2, 1, − 3)

(1, 3, − 4)

(2, 3, − 5)

129. If O is the circumcentre, G is the centroid and O' is orthocentre or

triangle ABC then prove that: 

A. 

B. 

C. 

−−→
OA +

−−→
OB +

−−→
OC =

−−−→
OO'

3̄ ¯̄¯̄¯QG

¯̄¯̄¯̄QG

¯̄¯̄¯̄GQ

https://dl.doubtnut.com/l/_JQLkZ2B7jX3k
https://dl.doubtnut.com/l/_mrPBTx6fKnsW


D. 

Answer: A

Watch Video Solution

3̄ ¯̄¯̄¯GQ

130. The vector  are the sides of

a triangle ABC. The length of the median through A is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

¯̄̄ ¯̄¯AB = 3 î + 4k̂ and ¯̄̄ ¯̄¯AC = 5 î − 2ĵ + 4k̂

√18

√72

√33

√288

https://dl.doubtnut.com/l/_mrPBTx6fKnsW
https://dl.doubtnut.com/l/_Vx6AxgTYnEZy


131. In an isosceles , If  and AD is the median, then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

△ ABC AB = AC

¯̄¯̄¯̄AD ⋅ ¯̄̄ ¯̄¯BC =

¯̄̄ ¯̄¯AC

¯̄¯̄¯̄BD

1

0

132. In a triangle 
 If 
 are points of

trisection of 
prove that 

A. 

B. 

C. 

OAB,  ∠AOB = 900. P  and Q

AB OP 2 + OQ2 = AB2.
5

9

(AB)21

3

(AB)25

3

(AB)21

9

https://dl.doubtnut.com/l/_rw9M4LvMXlNc
https://dl.doubtnut.com/l/_0495vM5BBusM


D. 

Answer: D

Watch Video Solution

(AB)25

9

133. In parallelogram ABCD, if P is the mid-point of side AB, then

A. DP bisects diagonal AC

B. DP bisects diagonal BD

C. DP trisects diagonal BD

D. DP trisects diagonal AC and trisected by AC

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_0495vM5BBusM
https://dl.doubtnut.com/l/_RG2Rk3kqN2xL


134. In parallelogram ABCD, if , then the diagonals

interm of  are

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

¯̄̄ ¯̄¯AB = ā and ¯̄¯̄¯̄AD = b̄

ā and b̄

ā + b̄, ā − b̄

ā, b̄

ā + b̄, b̄ − ā

2ā, 2b̄

135. If the two adjacent sides of a parallelogram are given by

, then the lengths of the diagonals are

A. 

B. 

C. 

î + 2ĵ + 3k̂ and − 3 î − 2ĵ + k̂

2, 6√5

2√5, 6

2, 6

https://dl.doubtnut.com/l/_OfmJmbGDrsHR
https://dl.doubtnut.com/l/_bbP0odarteCd


D. 

Answer: B

View Text Solution

2, √5

136. Let  where O,A and C

are non-collinear points . Let P denotes the area of the quadrilateral

OABC and let q denots the area of the parallelogram with OA and OC as

adjacent sides. If p =kq , then h=........

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

−−→
OA = →a,

−−→
OB = 10→a + 2

b

 and  
−−→
OC = →

b

4

6

∣∣ā − b̄∣∣

|2ā|
∣∣ā + b̄∣∣

|2ā|

https://dl.doubtnut.com/l/_bbP0odarteCd
https://dl.doubtnut.com/l/_famYVeaPKWMg


137. By method, show that the quadrilateral with vertices A(1,2,-1),

B(8,-3,-4), C(5,-1,1),D(-2,1,4) is a parallelogram.

A. parallelogram

B. trapezium

C. kite

D. rhombus

Answer: A

Watch Video Solution

138. The lie segments joining the midpoints of the ajdacent sides of a

quadirlateral form

A. trapezium

B. parallelogram

C. rectangle

https://dl.doubtnut.com/l/_NVxJMWKA6qma
https://dl.doubtnut.com/l/_MoasgLWMmZpa


D. square

Answer: B

Watch Video Solution

139. Which of the following is true?

A. A quadrilateral is a square if and only if diagonal are congruent and

bisects each other at right angle

B. A quadrilateral is a square if and only if diagonal are not congruent

and bisects each other at right angle

C. A quadrilateral is a square if and only if diagonal are congruent

D. A quadrilateral is a square if and only ifdiagonals bisects each other

at right angle

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_MoasgLWMmZpa
https://dl.doubtnut.com/l/_c2lJM45zgAaP


140. Which of the following is true?

A. A quadrilateral is a rectangle if and only if diagonal are not

congruent and bisect each other at right angle

B. A quadrilateral is a rectangle if and only if diagonal are congruent

and bisect each other at right angle

C. A quadrilateral is a rectangle if and only if diagonal are congruent

D. A quadrilateral is a rectangle if and only if diagonals bisect each

other at right angle

Answer: B

Watch Video Solution

141. Which of the following is trues?

https://dl.doubtnut.com/l/_c2lJM45zgAaP
https://dl.doubtnut.com/l/_5PFXnSKB8GfW
https://dl.doubtnut.com/l/_HGyTfzDsXou7


A. A quadrilateral is a rhombus if and only if diagonal are congruent

and bisects each other at right angle

B. A quadrilateral is a rhombus if and only if diagonal are not

congruent and bisects each other at right angle

C. A quadrilateral is a rhombus if and only if diagonal bisect each

other

D. A quadrilateral is a rhombus if and only if diagonal are at right

angle

Answer: A

View Text Solution

142. Which of the following is true regarding the diagonals of a

parallelogram?

https://dl.doubtnut.com/l/_HGyTfzDsXou7
https://dl.doubtnut.com/l/_uNJgUrhYpQnu


A. If diagonals of a parallelogram are of equal length, then the

parallelogram is a square

B. If diagonals of a parallelogram are of equal length, then the

parallelogram is a rectangle

C. If diagonals of a parallelogram are of equal length, then the

parallelogram is a rhombus

D. If diagonals of a parallelogram are of equal length, then the

parallelogram is not a rectangle

Answer: B

View Text Solution

143. 
 ABCD is a rhombus and 
 are the mid-points of 


respectively. Prove that 
is a rectangle.

A. trapezium

P , Q, R, S

AB, BC, CD, DA PQRS

https://dl.doubtnut.com/l/_uNJgUrhYpQnu
https://dl.doubtnut.com/l/_u90AhlPkTW9k


B. rhombus

C. kite

D. parallelogram

Answer: D

Watch Video Solution

144. In quadrilateral ABCD, if , then it is

A. trapezium

B. parallelogram

C. kite

D. rhombus

Answer: B

View Text Solution

¯̄̄ ¯̄¯AB = ¯̄¯̄¯̄CD

https://dl.doubtnut.com/l/_u90AhlPkTW9k
https://dl.doubtnut.com/l/_ulrPxMEe28qI
https://dl.doubtnut.com/l/_rvdgId4L60ys


145. In the quadrilateral  :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ABCD

(¯̄̄ ¯̄¯AC × ¯̄¯̄¯̄BD)
1

2

(¯̄̄ ¯̄¯AC × ¯̄¯̄¯̄BD)
1

2

¯̄̄ ¯̄¯AC × ¯̄¯̄¯̄DB

¯̄̄ ¯̄¯AC × ¯̄¯̄¯̄BD

146. Let  be a quadrilateral. If M and N are the mid-points of the

sides PQ and RS respectively, then PS+QR=

A. 

B. 

C. 

D. 

□ PQRS

4̄ ¯̄̄ ¯̄̄ ¯MN

3̄ ¯̄̄ ¯̄̄ ¯MN

2̄ ¯̄̄ ¯̄̄ ¯MN

¯̄̄ ¯̄̄ ¯̄MN

https://dl.doubtnut.com/l/_rvdgId4L60ys
https://dl.doubtnut.com/l/_RNGVLQCapb4C


Answer: C

Watch Video Solution

147. ABCD is a quadrilateral and E is the point of intersection of the lines

joining the mid-points of opposite sides. If O be any point in the plane,

then show that .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

−−→
OA +

−−→
OB +

−−→
OC +

−−→
OD = 4

−−→
OE

3

4

7

9

https://dl.doubtnut.com/l/_RNGVLQCapb4C
https://dl.doubtnut.com/l/_t5hOSqzq4jV6


148. If  are the position

vectors of vertices of a quadrilateral, then it is a

A. parallelogram

B. trapezium

C. rectangle

D. square

Answer: B

View Text Solution

î + ĵ − k̂, 2 î + 3ĵ, 3 î + 5ĵ − 2k̂ and − ĵ + k̂

149. E and F are mid-points of sides of AD and BC respectively of

quadrilateral ABCD having vertices

, then

A. EF is parallel to AB

B. EF is parallel to CD

A(1, 2, 1), B( − 2, 4, − 1), C( − 1, 3, 2), D(5, − 1, 6)

https://dl.doubtnut.com/l/_zYR2Utx2g7e8
https://dl.doubtnut.com/l/_BBL2Ti0z5Gdg


C. EF is a parallel to AB and CD

D. EF is not a parallel to AB and CD

Answer: C

View Text Solution

150. Which of the following is trues?

A. The diagonal of a kite bisect each other

B. The diagonal of a kite are at right angle

C. The diagonal of a kite are congruent

D. The diagonal of a kite bisect each at right angle

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_BBL2Ti0z5Gdg
https://dl.doubtnut.com/l/_FqgAeBXptqV9


151. OABC is a tetrahedron D and E are the mid points of the edges 

and . Then the vector  in terms of 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−−→
OA

−−→
BC

−−→
DE

−−→
OA,

−−→
OB and

−−→
OC

¯̄̄ ¯̄¯OC ⊥ ¯̄̄ ¯̄¯AB

¯̄̄ ¯̄¯OC = ¯̄̄ ¯̄¯AB

¯̄̄ ¯̄¯OC = 2̄ ¯̄̄ ¯̄AB

¯̄̄ ¯̄¯OC = ¯̄̄ ¯̄¯AB

152. If M and N are the mid-points of the diagonals AC and BD respectively

of a quadrilateral ABCD, then the of  equals

A. 

B. 

C. 

−−→
AB +

−−→
AD +

−−→
CB +

−−→
CD

2̄ ¯̄̄ ¯̄̄ ¯MN

2̄ ¯̄̄ ¯̄̄ ¯NM

4̄ ¯̄̄ ¯̄̄ ¯MN

https://dl.doubtnut.com/l/_saqYRHDXgjOT
https://dl.doubtnut.com/l/_b9XAOFI41DXt


D. 

Answer: C

Watch Video Solution

4̄ ¯̄̄ ¯̄̄ ¯NM

153. ABCD is a
rhombus and P, Q, R and S are wthe mid-points of the sides

AB, BC, CD
 and
 DA respectively. Show that the quadrilateral PQRS is a

rectangle.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

¯̄¯̄¯̄BD

¯̄¯̄̄ ¯PQ

¯̄¯̄¯RS

¯̄̄ ¯̄¯AC

https://dl.doubtnut.com/l/_b9XAOFI41DXt
https://dl.doubtnut.com/l/_YjROUja0XhZA
https://dl.doubtnut.com/l/_ok0wBWz6tJN7


154. If P, Q are the mid-points of the diagonals AC and BD of a

quadrilateral aBCD and R is the mid-points of PQ, then

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

¯̄̄ ¯̄¯RA + ¯̄̄ ¯̄¯RB + ¯̄̄ ¯̄¯RC + ¯̄¯̄¯̄RD =

4̄ ¯̄̄ ¯̄OR

¯̄̄ ¯̄¯OR

2̄ ¯̄¯̄RS

¯̄̄O

155. If ABCD is a quadrilateral, then

A. 

B. 

2̄ ¯̄̄ ¯̄AB + 3̄ ¯̄̄ ¯̄BC + 2̄ ¯̄¯̄¯CD + ¯̄¯̄¯̄DA + ¯̄̄ ¯̄¯CA + ¯̄¯̄¯̄DB =

¯̄̄ ¯̄¯AC

2̄ ¯̄̄ ¯̄AC

https://dl.doubtnut.com/l/_ok0wBWz6tJN7
https://dl.doubtnut.com/l/_pWejTqLxDvvl


C. 

D. 

Answer: D

Watch Video Solution

¯̄¯̄¯̄AD

¯̄̄O

156. If ABCD is a square, then 

 =

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

¯̄̄ ¯̄¯AB + 2̄ ¯̄̄ ¯̄BC + 3̄ ¯̄¯̄¯CD + 4̄ ¯̄¯̄¯DA

¯̄̄ ¯̄¯AC

¯̄̄O

¯̄̄ ¯̄¯CA

2̄ ¯̄̄ ¯̄CA

https://dl.doubtnut.com/l/_pWejTqLxDvvl
https://dl.doubtnut.com/l/_6rrSHMxly68n
https://dl.doubtnut.com/l/_VpqjYivztQeb


157. ABCD is a parallelogram with AC and BD as diagonals. Then,

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A
→
C − B

→
D =

4̄ ¯̄̄ ¯̄AB

3̄ ¯̄̄ ¯̄AB

2̄ ¯̄̄ ¯̄AB

¯̄̄ ¯̄¯AB

158. Let ABCD is a parallelogram and  be its diagonal, then 

 is

A. 

B. 

C. 

→
A C,

→
BD

→
A C +

→
BD

2̄ ¯̄̄ ¯̄AB

2̄ ¯̄̄ ¯̄BC

¯̄̄ ¯̄¯AB

https://dl.doubtnut.com/l/_VpqjYivztQeb
https://dl.doubtnut.com/l/_qtF7asUJLpZK


D. 

Answer: B

Watch Video Solution

¯̄̄ ¯̄¯BC

159. ABDC is a parallelogram and P is the point of intersection of its

diagonals. If O is any point, then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

¯̄̄ ¯̄¯OA + ¯̄̄ ¯̄¯OB + ¯̄̄ ¯̄¯OC + ¯̄¯̄¯̄OD =

¯̄̄ ¯̄¯OP

4̄ ¯̄̄ ¯̄OP

¯̄̄O

2̄ ¯̄̄ ¯̄OP

https://dl.doubtnut.com/l/_qtF7asUJLpZK
https://dl.doubtnut.com/l/_I1UaaFrRklat


160. ABCD is a parallelogram and O is the point of intersection of its

diagonals. If points P, Q, R, S are the mid-points of OA, PB, QC, RD

respectively, then the points Q, O, S

A. forms a triangle

B. are non-coplanar

C. are collinear

D. are non-collinear

Answer: C

View Text Solution

161. In parallelogram ABCD,if P, Q are mid-points of BC and CD respectively,

then 

A. 

B. 

¯̄̄ ¯̄¯AP + ¯̄¯̄̄ ¯AQ =

(¯̄̄ ¯̄¯AC)
3

2

(¯̄̄ ¯̄¯AC)
5

4

https://dl.doubtnut.com/l/_Kf6p94JBRKu3
https://dl.doubtnut.com/l/_6I8mmOfZo4lL


C. 

D. 

Answer: A

Watch Video Solution

(¯̄̄ ¯̄¯AC)

2(¯̄̄ ¯̄¯AC)

162. If 
 is a rhombus whose diagonals cut at the
 origin 
 then

proved that 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ABCD O,

→
OA +

→
OB +

→
OC +

→
OD +

→
O .

¯̄̄ ¯̄¯AB + ¯̄̄ ¯̄¯AC

2(¯̄̄ ¯̄¯AB + ¯̄̄ ¯̄¯AC)

¯̄̄ ¯̄¯AC + ¯̄¯̄¯̄BD

¯̄̄O

https://dl.doubtnut.com/l/_6I8mmOfZo4lL
https://dl.doubtnut.com/l/_kkJO13YKGX0d
https://dl.doubtnut.com/l/_vya0ZG3ZfUIt


163. If PQRST is a pentagon, then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

¯̄¯̄̄ ¯PQ + ¯̄̄ ¯̄¯PR + ¯̄¯̄¯PS − ¯̄̄¯̄¯TQ − ¯̄̄¯̄¯TR − ¯̄¯̄¯TS =

¯̄̄¯̄¯PT

2̄ ¯̄̄¯̄PT

3̄ ¯̄̄¯̄PT

4̄ ¯̄̄¯̄PT

164. ABCDE is a pentagon. The resultant of the vectors

 in terms of  is

A. 

B. 

C. 

¯̄̄ ¯̄¯AB, ¯̄̄ ¯̄¯AE, ¯̄̄ ¯̄¯BC, ¯̄¯̄¯̄DC, ¯̄¯̄¯̄ED and ¯̄̄ ¯̄¯AC ¯̄̄ ¯̄¯AC

4̄ ¯̄̄ ¯̄AC

2̄ ¯̄̄ ¯̄AC

3̄ ¯̄̄ ¯̄AC

https://dl.doubtnut.com/l/_vya0ZG3ZfUIt
https://dl.doubtnut.com/l/_BgMshRSdcYJl


D. 

Answer: C

Watch Video Solution

5̄ ¯̄̄ ¯̄AC

165. If ABCDE is a pentago, then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

¯̄̄ ¯̄¯AB + ¯̄̄ ¯̄¯BC + ¯̄¯̄¯̄CD + ¯̄¯̄¯̄DE − ¯̄̄ ¯̄¯AE =

2̄ ¯̄̄ ¯̄AC

2̄ ¯̄̄ ¯̄AE

¯̄̄O

¯̄̄ ¯̄¯AC

https://dl.doubtnut.com/l/_BgMshRSdcYJl
https://dl.doubtnut.com/l/_dHvZMgCdLtuF


166.  are vectors,  determined by two adjacent sides of a

regular hexagon ABCDEF.The vector represented by  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ā, b̄ ¯̄̄ ¯̄¯AB, ¯̄̄ ¯̄¯BC

¯̄̄ ¯̄¯EF

ā − b̄

ā + b̄

2ā

− b̄

167. If ABCDEF is a regular hexagon inscribed in a circle with centre O,

then 

A. 

B. 

C. 

¯̄̄ ¯̄¯AB + ¯̄̄ ¯̄¯AC + ¯̄¯̄¯̄AD + ¯̄̄ ¯̄¯AE + ¯̄̄¯̄¯AF =

¯̄̄ ¯̄¯AO

5̄ ¯̄̄ ¯̄AO

6̄ ¯̄̄ ¯̄AO

https://dl.doubtnut.com/l/_rLzzM4t1r1x9
https://dl.doubtnut.com/l/_0E3oCHK7I24P


D. 

Answer: C

Watch Video Solution

8̄ ¯̄̄ ¯̄AO

168. If ABCDEF is a regular hexagon, then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

¯̄̄ ¯̄¯AB + ¯̄̄ ¯̄¯AC + ¯̄̄ ¯̄¯AE + ¯̄̄¯̄¯AF =

¯̄¯̄¯̄AD

3̄ ¯̄¯̄¯AD

2̄ ¯̄¯̄¯AD

¯̄̄O

169. In a regular hexagon ABCDEF, 
−−→
AE

https://dl.doubtnut.com/l/_0E3oCHK7I24P
https://dl.doubtnut.com/l/_6hLBcE6Zz3lB
https://dl.doubtnut.com/l/_5rJvIOGo2oNM


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

¯̄̄ ¯̄¯AC + ¯̄̄ ¯̄¯AB + ¯̄̄¯̄¯AF

¯̄¯̄¯̄¯̄¯̄¯̄¯̄¯̄¯̄¯̄¯̄¯̄¯̄¯̄¯̄¯̄¯AC − + ¯̄̄ ¯̄¯AB + ¯̄̄¯̄¯AF

¯̄̄ ¯̄¯AC + ¯̄̄ ¯̄¯AB − ¯̄̄¯̄¯AF

−¯̄̄ ¯̄¯AC + ¯̄̄ ¯̄¯AB + ¯̄̄¯̄¯AF

170. If  represent the sides  of a regular hexagon

ABCDEF, then 

A. 

B. 

C. 

D. 

Answer: B

ā and b̄ ¯̄̄ ¯̄¯AB and ¯̄̄ ¯̄¯BC

¯̄̄ ¯̄¯FA =

b̄ − ā

ā − b̄

ā + b̄

−(ā + b̄)

https://dl.doubtnut.com/l/_5rJvIOGo2oNM
https://dl.doubtnut.com/l/_U7K3sRisDpB0


Watch Video Solution

171. If 
 are the vectors forming consecutive sides of a regular of a

regular
hexagon 
 then the vecrtor representing side 
 is



b. 
c. 
d. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

→
a ,  

→
b

ABCDEF , CD

→
a +

→
b

→
a −

→
b

→
b −

→
a −(

→
a +

→
b )

ā − b̄

b̄

ā + b̄

b̄ − ā

172. If  are end points of a diameter of a

circle, then points 

A(3, − 2, 2) and B(2, 9, 5)

C(5, 6, − 1)

https://dl.doubtnut.com/l/_U7K3sRisDpB0
https://dl.doubtnut.com/l/_On5YUhao4mT3
https://dl.doubtnut.com/l/_Yr32p2pVcuTp


A. is centre of the circle

B. lies on the circumference of the circle

C. lies outside the circle

D. lies inside the circle

Answer: B

View Text Solution

173. If AB and CD are two chord of a circle intersecting at right angles in P

and O is centre, then 

A. 

B. 

C. 

D. 

Answer: A

¯̄̄ ¯̄¯PA + ¯̄̄ ¯̄¯PB + ¯̄̄ ¯̄¯PC + ¯̄¯̄¯̄PD =

2̄ ¯̄̄ ¯̄PO

2̄ ¯̄̄ ¯̄OP

¯̄̄ ¯̄¯OP

¯̄̄ ¯̄¯PO

https://dl.doubtnut.com/l/_Yr32p2pVcuTp
https://dl.doubtnut.com/l/_NqczgkrPx4Fx


View Text Solution

174. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

î ⋅ (ĵ × k̂) + ĵ ⋅ (k̂ × î) + k̂ ⋅ ( î × ĵ) =

0

1

2

3

175. If  are the unit vectors and mutually perpendicular, then 

=

A. 

B. 

î, ĵ, k̂

[ î ĵ k̂ ]

0

−1

https://dl.doubtnut.com/l/_NqczgkrPx4Fx
https://dl.doubtnut.com/l/_An7Cs96HvPkx
https://dl.doubtnut.com/l/_SCkIjxu7RGZm


C. 

D. 

Answer: C

Watch Video Solution

1

2

176. If  are the unit vectors and mutually perpendicular, then 

=

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

î, ĵ, k̂

[ î + ĵ ĵ + k̂ k̂ + î ]

−1

0

1

2

https://dl.doubtnut.com/l/_SCkIjxu7RGZm
https://dl.doubtnut.com/l/_dQ6Pixok90v7
https://dl.doubtnut.com/l/_L0nxyk35jx5K


177. If  are the unit vectors and mutually perpendicular, then 

=

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

î, ĵ, k̂

[ î − ĵ ĵ − k̂ k̂ − î ]

−1

0

1

2

178. If  are three non-zero, non-coplanar, mutually perpendicular

vectors, then 

A. 

B. 

C. 

ā, b̄, c̄

[ ā b̄ c̄ ] =

−1

0

1

https://dl.doubtnut.com/l/_L0nxyk35jx5K
https://dl.doubtnut.com/l/_j8l0KTzvkLE9


D. 

Answer: C

View Text Solution

2

179. If , then 

A. a non-zero vector

B. 

C. 

D. 

Answer: D

View Text Solution

ā ⋅ b̄ = b̄ ⋅ c̄ = c̄ ⋅ ā = 0 ā ⋅ (b̄ × c̄) =

1

−1

|ā|∣∣b̄∣∣|c̄|

180. For non-zero vectors  holds, iffā, b̄, c̄, (ā × b̄) ⋅ c̄ = |ā|∣∣b̄∣∣|c̄|

https://dl.doubtnut.com/l/_j8l0KTzvkLE9
https://dl.doubtnut.com/l/_5jmddNJYFuPc
https://dl.doubtnut.com/l/_lsjkgnzINZtA


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ā ⋅ b̄ = 0, b̄ ⋅ c̄ = 0, c̄ ⋅ ā ≠ 0

ā ⋅ b̄ ≠ 0, b̄ ⋅ c̄ = 0, c̄ ⋅ ā = 0

ā ⋅ b̄ = 0, b̄ ⋅ c̄ ≠ 0, c̄ ⋅ ā = 0

ā ⋅ b̄ = 0, b̄ ⋅ c̄ = 0, c̄ ⋅ ā = 0

181. For non-zero vectors  holds, iff

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ā, b̄, c̄, (ā × b̄) ⋅ c̄ = |ā|∣∣b̄∣∣|c̄|

ā ⋅ b̄ = 0, b̄ ⋅ c̄ = 0, c̄ ⋅ ā ≠ 0

ā ⋅ b̄ = 0, b̄ ⋅ c̄ = 0, c̄ ⋅ ā = 0

ā ⋅ b̄ = 0, b̄ ⋅ c̄ ≠ 0, c̄ ⋅ ā = 0

ā ⋅ b̄ ≠ 0, b̄ ⋅ c̄ = 0, c̄ ⋅ ā = 0

https://dl.doubtnut.com/l/_lsjkgnzINZtA
https://dl.doubtnut.com/l/_XYwbhyEUVNnT


182. If  for some non-zero vectors , then 

 is

A. true

B. false

C. cannot say anything

D. either true or false

Answer: A

Watch Video Solution

x̄ ⋅ ā = 0, x̄ ⋅ b̄ = 0, x̄ ⋅ c̄ = 0 x̄

[ ā b̄ c̄ ] = 0

183. If vectors  form a left

handed system, then  is

A. 

B. 

ā = 2 î + 3ĵ + 4k̂, b̄ = î + ĵ + 5k̂ and c̄

c̄

11 î − 6ĵ − k̂

−11 î + 6ĵ + k̂

https://dl.doubtnut.com/l/_XYwbhyEUVNnT
https://dl.doubtnut.com/l/_7Pm746dgoKg1
https://dl.doubtnut.com/l/_B3xY2MXIobRJ


C. 

D. 

Answer: B

Watch Video Solution

11 î − 6ĵ + k̂

−11 î + 6ĵ − k̂

184. If , then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ā = 3 î − 2ĵ + 7k̂, b̄ = 5 î + ĵ − 2k̂, c̄ = î + ĵ − k̂

ā ⋅ (b̄ × c̄) =

−25

37

25

31

https://dl.doubtnut.com/l/_B3xY2MXIobRJ
https://dl.doubtnut.com/l/_9bwzTUjMkfge
https://dl.doubtnut.com/l/_TglMLcjTx1AT


185. If , then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ā = 3 î − ĵ + 4k̂, b̄ = 2 î + 3ĵ − 2k̂, c̄ = − 5 î + 2ĵ + 3k̂

ā ⋅ (b̄ × c̄) =

100

101

111

109

186. If , then 

A. 

B. 

C. 

ā = 7 î − ĵ + 2k̂, b̄ = î + 3ĵ − k̂, c̄ = 4 î + 5k̂

ā ⋅ (b̄ × c̄) =

120

72

138

https://dl.doubtnut.com/l/_TglMLcjTx1AT
https://dl.doubtnut.com/l/_XfT1ecg1ylXO


D. 

Answer: D

Watch Video Solution

90

187. If , then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ā = 2 î + 3ĵ − k̂, b̄ = 4 î + 2ĵ + 3k̂, c̄ = 2 î − 5ĵ + 9k̂

ā ⋅ (b̄ × c̄) =

66

0

24

−90

https://dl.doubtnut.com/l/_XfT1ecg1ylXO
https://dl.doubtnut.com/l/_Ees48dmXHVik


188. If , then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ā = î + 2k̂, b̄ = 2 î + ĵ, c̄ = ĵ + 2k̂ ā ⋅ (b̄ × c̄) =

1

2

4

6

189. If , then 

A. 

B. 

C. 

D. 

ā = 2 î + 3ĵ − k̂, b̄ = 5 î − 6ĵ + 2k̂ and c̄ = î + ĵ + k̂

[ ā b̄ c̄ ] =

35

9

17

−36

https://dl.doubtnut.com/l/_LpO1IvTfZRRp
https://dl.doubtnut.com/l/_GKxRDvFSUFMi


Answer: D

Watch Video Solution

190. If  are unit vectors such that  and 

, then 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

ā, b̄, c̄ ā ⋅ b̄ = , b̄ ⋅ c̄ =
1

2

1

√2

c̄ ⋅ ā =
√3
2

ā ⋅ (b̄ × c̄) =

√√6 − 2

2

√√6 + 2

2

√6 − 2

2

√6 + 2

2

191. If

,ā = î + ĵ + k̂, b̄ = 2 î + qĵ + k̂, c̄ = î − ĵ + 4k̂ and ā ⋅ (b̄ × c̄) = 1

https://dl.doubtnut.com/l/_GKxRDvFSUFMi
https://dl.doubtnut.com/l/_2WdJXl0YgiSh
https://dl.doubtnut.com/l/_txoE0mF7m1QT


then q=

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3

−3

9

−9

192. If

, then  is equal to

A. 

B. 

C. 

ā = î + ĵ + k̂, b̄ = 2 î + λĵ + k̂, c̄ = î − ĵ + 4k̂ and ā ⋅ (b̄ × c̄) = 10

λ

6

7

9

https://dl.doubtnut.com/l/_txoE0mF7m1QT
https://dl.doubtnut.com/l/_4Huqx42JrE7j


D. 

Answer: A

Watch Video Solution

10

193. If the vectors  are

coplanar, then m=

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ā = î + ĵ + k̂, b̄ = î − ĵ + k̂, c̄ = 2 î + 3ĵ + mk̂

−2

−4

2

4

https://dl.doubtnut.com/l/_4Huqx42JrE7j
https://dl.doubtnut.com/l/_hfb63vDE626n


194. If the vectors 

are coplanar, then p=

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ā = î − ĵ − 6k̂, b̄ = î + pĵ + 4k̂, c̄ = 2 î − 5ĵ + 3k̂

−9

9

−3

3

195. If the vectors  are

coplanar, then p=

A. 

B. 

C. 

ā = − 3 î + 4ĵ − 2k̂, b̄ = î + 2ĵ, c̄ = î − pĵ

−2

1

−1

https://dl.doubtnut.com/l/_1JfnfgtMmUcK
https://dl.doubtnut.com/l/_nCOqe4efOC7J


D. 

Answer: D

Watch Video Solution

2

196. If the vectors

 are coplanar,

then p=

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ā = 4 î + 13ĵ − 18k̂, b̄ = î − 2ĵ + 3k̂, c̄ = pî + 3ĵ − 4k̂

−4

4

−2

2

https://dl.doubtnut.com/l/_nCOqe4efOC7J
https://dl.doubtnut.com/l/_HBy3adlyMOOB
https://dl.doubtnut.com/l/_F6Li5Sjjw4S3


197. If the vectors 

are coplanar, then p=

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ā = î − 2ĵ + k̂, b̄ = 2 î − 5ĵ + pk̂, c̄ = 5 î − 9ĵ + 4k̂

3

−3

11

−11

198. If the vectors 

are coplanar, then p=

A. 

B. 

C. 

ā = î − 2ĵ + k̂, b̄ = pî − 5ĵ + 3k̂, c̄ = 5 î − 9ĵ + 4k̂

−12

12

−2

https://dl.doubtnut.com/l/_F6Li5Sjjw4S3
https://dl.doubtnut.com/l/_1YzuZjh0QwPd


D. 

Answer: D

Watch Video Solution

2

199. If the vectors  are

coplanar, then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ā = î + ĵ + k̂, b̄ = î − ĵ + k̂, c̄ = 2 î + 3ĵ + λk̂

λ =

2

−2

4

−4

https://dl.doubtnut.com/l/_1YzuZjh0QwPd
https://dl.doubtnut.com/l/_mFG9UoU1WaNq


200. If the vectors

 are coplanar,

then m=

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ā = 4 î + 11ĵ + mk̂, b̄ = 7 î + 2ĵ + 6k̂, c̄ = î + 5ĵ + 4k̂

10

−10

38

0

201. If

, then x=

A. 

ā = î − 2ĵ + k̂, b̄ = xî − 5ĵ + 3k̂, c̄ = 5 î − 9ĵ + 4k̂ and [ ā b̄ c̄ ] = 0

3

https://dl.doubtnut.com/l/_7l7Nv2oOvfPG
https://dl.doubtnut.com/l/_fI3DktUj03Yc


B. 

C. 

D. 

Answer: C

Watch Video Solution

4

2

−1

202. Let

. Then 

 depends on

A. only x

B. only y

C. neither x nor y

D. both x and y

Answer: C

ā = î − k̂, b̄ = xî + ĵ + (1 − x)k̂, c̄ = yî + xĵ + (1 + x − y)k̂

[ ā b̄ c̄ ]

https://dl.doubtnut.com/l/_fI3DktUj03Yc
https://dl.doubtnut.com/l/_NkibFyn5zBXC


Watch Video Solution

203. If the vectors , where a, b, c are

coplanar, then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

aî + ĵ + k̂, î + bĵ + k̂, î + ĵ + ck̂

a + b + c − abc =

−2

−1

2

1

204. If the vectors  are

coplanar, then 

A. 

aî + ĵ + k̂, î + bĵ + k̂, î + ĵ + ck̂, (a ≠ b ≠ c)

+ + =
1

1 − a

1

1 − b

1

1 − c

1

https://dl.doubtnut.com/l/_NkibFyn5zBXC
https://dl.doubtnut.com/l/_C10o3PRtXuCX
https://dl.doubtnut.com/l/_UYbyM4VTREmf


B. 

C. 

D. 

Answer: A

Watch Video Solution

−1

−2

5

205. If  are

linearly dependent vectors and  then

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

→
a = î + ĵ + k̂,

→
b = 4 î + 3ĵ + 4k̂ and

→
c = î + αî + βk̂

∣
∣
→
c ∣

∣ = √3.

α = 1, β = 1

α = 2, β = ± 2

α = − 2, β = ± 2

α = ± 1, β = 1

https://dl.doubtnut.com/l/_UYbyM4VTREmf
https://dl.doubtnut.com/l/_JRFMR2NcKpBk


206. If  and the vectors 

 are coplanar, then 

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

ā = î + ĵ, b̄ = ĵ + k̂, c̄ = αā + βb̄

î − 2ĵ + k̂, 3 î + 2ĵ − k̂, c̄ =
α

β

0

−2

−3

−1

207. Let a,b,c be distinct non- negative numbers . If the vectors

 lie in a plane then c is

A. the arithemetic mean of a and b

B. the geometric mean of a and b

aî + aĵ + ck̂, î + k̂  and  cî + cĵ + bk̂

https://dl.doubtnut.com/l/_JRFMR2NcKpBk
https://dl.doubtnut.com/l/_796pOofwsiSz
https://dl.doubtnut.com/l/_Ms5MrUzNyKBR


C. the harmonic mean of a and b

D. equal to zero

Answer: B

Watch Video Solution

208. Given vectors

, then the

projection of  on vector  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ā = 3 î − 6ĵ − k̂, b̄ = î + 4ĵ − 3k̂, c̄ = 3 î − 4ĵ − 12k̂

ā × b̄ c̄

14

−14

12

15

https://dl.doubtnut.com/l/_Ms5MrUzNyKBR
https://dl.doubtnut.com/l/_zBEkD89uTB1i


209. If the points  are

coplanar, then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A(2, 1, − 1), B(0, − 1, 0), C(λ, 0, 4), D(2, 0, 1)

λ =

2

−2

4

−4

210. If the points 

are coplanar, then 

A. 

B. 

P (1, − 1, − 1), Q(3, 1, λ), R(0, 2, 1), S( − 2, 0, 1)

λ =

1

−1

https://dl.doubtnut.com/l/_zBEkD89uTB1i
https://dl.doubtnut.com/l/_ljQqKv1j9Ooo
https://dl.doubtnut.com/l/_58JAC2cy3rzf


C. 

D. 

Answer: B

Watch Video Solution

8

−8

211. If the points

 are coplanar,

then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A( − 6, 3, 2), B(3, − 2, 4), C(5, 7, 3), D( − 13, λ, − 1)

λ =

17

−17

12

−12

https://dl.doubtnut.com/l/_58JAC2cy3rzf
https://dl.doubtnut.com/l/_R31anXcckhnp


212. If the points  are

coplanar, then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A(3, 9, 4), B(0, − 1, − 1), C(λ, 4, 4), D(4, 5, 1)

λ =

−2

2

−4

4

213. If the points  are

coplanar, then 

A. 

B. 

A(4, 5, 1), B(5, 3, 4), C(4, 1, 6), D(3, λ, 3)

λ =

−3

3

https://dl.doubtnut.com/l/_R31anXcckhnp
https://dl.doubtnut.com/l/_aEyEfswFM2wT
https://dl.doubtnut.com/l/_4Woa3NXWHrJP


C. 

D. 

Answer: B

Watch Video Solution

−5

5

214. If the points

 are coplanar,

then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

A(2, − 1, 0), B( − 3, λ, 4), C( − 1, − 1, 4), D(0, − 5, 2)

λ =

16

−16

17

−17

https://dl.doubtnut.com/l/_4Woa3NXWHrJP
https://dl.doubtnut.com/l/_W2tVJ2WwTL7B


215. If the points  are

coplanar, then p=

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A(2, − 1, 1), B(4, 0, p), C(1, 1, 1), D(2, 4, 3)

−3

3

−1

1

216. If the origin and the points  are

coplanar, then

A. 

B. 

P (2, 3, 4), Q(1, 2, 3) and R(x, y, z)

x − 2y − z = 0

x + 2y + z = 0

https://dl.doubtnut.com/l/_W2tVJ2WwTL7B
https://dl.doubtnut.com/l/_2M7tpVPGCXz6
https://dl.doubtnut.com/l/_4SKqbKMgjs1O


C. 

D. 

Answer: C

Watch Video Solution

x − 2y + z = 0

2x + 2y − z = 0

217. If the origin and the points 

are coplanar, then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A(1, 2, − 2), B(1, − 2, 3), C(x, y, z)

2x + 5y + 4z = 0

2x − 5y − 4z = 0

2x + 5y − 4z = 0

2x − 5y + 4z = 0

https://dl.doubtnut.com/l/_4SKqbKMgjs1O
https://dl.doubtnut.com/l/_MCgvsKer1wQO
https://dl.doubtnut.com/l/_hbuLfR0CqGph


218. If  are coplanar,

then

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

O(0, 0, 0), A(x, 1, − 1), B(0, y, 2) and C(2, 3, z)

6x + 2y + 4 = 0

xyz − 6y + 4 = 0

xyz + 2y − 6z = 0

xyz − 6x + 2y + 4 = 0

219. The position vectors of the point A, B , C and D are

respectively. If A, B, C, D are coplanar, then 

A. 

B. 

3 î − 2ĵ − k̂, 2 î + 3ĵ − 4k̂, − î + ĵ + 2k̂ and 4 î + 5ĵ + λk̂

λ =

−146
17

146
17

https://dl.doubtnut.com/l/_hbuLfR0CqGph
https://dl.doubtnut.com/l/_UF4FkGhKknQ4


C. 

D. 

Answer: A

Watch Video Solution

146
15

−146
15

220. If the points

 are non-

collinear, then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A(2, − 1, 0), B( − 3, λ, 4), C( − 1, − 1, 4), D(0, − 5, 2)

λ ≠

−17

17

−18

18

https://dl.doubtnut.com/l/_UF4FkGhKknQ4
https://dl.doubtnut.com/l/_AdjjLJR19ZW6


221. If the points 

are non-coplanar, then 

A. 3

B. 

C. 

D. 1

Answer: C

Watch Video Solution

A(1, − 1, 1), B( − 1, 1, 1), C(λ, 1, 1), D(2, − 3, 4)

λ ≠ =

−3

−1

222. If  and the vectors given by

 are non-collinear, then 

A. 

B. 

∣
∣
∣
∣
∣

a b c

a2 b2 c2

a3 + 1 b3 + 1 c2 + 1

∣
∣

∣

∣
∣

= 0

A(1, a, a2), B(1, b, b2), C(1, c, c2) abc =

1

−1

https://dl.doubtnut.com/l/_AdjjLJR19ZW6
https://dl.doubtnut.com/l/_ZGH8ZIXQepmY
https://dl.doubtnut.com/l/_1LWS33y8R7Lz


C. 

D. 

Answer: B

Watch Video Solution

0

3

223. If  are non-coplanar vectors and  is a real number then

then vectors  and  are non-

coplanar for

A. no value of 

B. all except one value of 

C. all except two values of 

D. all values of 

Answer: C

Watch Video Solution

→
a ,

→
b ,

→
c λ

→
a + 2

→
b + 3

→
c , λ

→
b + 4

→
c (2λ − 1)

→
c

λ

λ

λ

λ

https://dl.doubtnut.com/l/_1LWS33y8R7Lz
https://dl.doubtnut.com/l/_S2XbsoiKmtyr


224. If  are non-coplanar vectors and  is a real number, then 

 for

A. exactly three values of 

B. exactly two values of 

C. exactly one values of 

D. no real values of 

Answer: D

View Text Solution

ā, b̄, c̄ λ

[ λ(ā + b̄) λ2 b̄ λc̄ ] = [ ā b̄ + c̄ b̄ ]

λ

λ

λ

λ

225. If  are non-coplanar vectors and the points with position

vectors  are

coplanar, the 

A. 

ā, b̄, c̄

3ā + 4b̄ − 2c̄, ā + λb̄ + 3c̄, ā − 6b̄ + 6c̄ and 2ā + 3b̄ − c̄

λ =

−2

https://dl.doubtnut.com/l/_S2XbsoiKmtyr
https://dl.doubtnut.com/l/_J2CqCTN1ZYps
https://dl.doubtnut.com/l/_iu4gUQWhsVaK


B. 

C. 

D. 

Answer: A

View Text Solution

2

−3

3

226. If  are non-coplanar vectors and the points with position

vectors  are coplanar, then 

Watch Video Solution

ā, b̄, c̄

2ā + 2b̄, ā + λb̄ + c̄ and 4ā + 4b̄ − 5c̄ λ =

227. If  are non-coplanar vectors and the vectors 

 are coplanar

such that , then

A. 

ā, b̄, c̄

p̄ = 2ā − 5b̄ + 2c̄, q̄ = ā + 5b̄ − 6c̄ and r̄ = 3ā − 4c̄

p̄ = mq̄ + nr̄

m = 1, n = 1

https://dl.doubtnut.com/l/_iu4gUQWhsVaK
https://dl.doubtnut.com/l/_799omYhmU2fp
https://dl.doubtnut.com/l/_6pLobIdAl2Eo


B. 

C. 

D. 

Answer: C

View Text Solution

m = 1, n = − 1

m = − 1, n = 1

m = − 1, n = − 1

228. If  are non-coplanar vectors and the vectors 

 are

coplanar such that , then

A. 

B. 

C. 

D. 

Answer: D

ā, b̄, c̄

p̄ = − ā + 3b̄ − 5c̄, q̄ = − ā + b̄ + c̄ and r̄ = 2ā − 3b̄ + c̄

p̄ = mq̄ + nr̄

m = 3, n = 2

m = − 3, n = 2

m = 3, n = − 2

m = − 3, n = − 2

https://dl.doubtnut.com/l/_6pLobIdAl2Eo
https://dl.doubtnut.com/l/_8ORz5sQle7xv


Watch Video Solution

229. If  are non-coplanar vectors, then the vectors given by 

 are

A. collinear

B. coplanar

C. non-coplanar

D. form a ight angled triangle

Answer: C

View Text Solution

ā, b̄, c̄

p̄ = 2ā − 2c̄, q̄ = 3ā + b̄ + 5c̄ and r̄ = 2ā − 4b̄ + 3c̄

230. If  and at least one of the l, m,

n is not zero , then the vectors  are

A. parallel

l(b̄ × c̄) + m(c̄ × ā) + n(ā × b̄) = 0

ā, b̄, c̄

https://dl.doubtnut.com/l/_8ORz5sQle7xv
https://dl.doubtnut.com/l/_pVhd8WtEqjbF
https://dl.doubtnut.com/l/_VdnEZyUf940r


B. coplanar

C. mutually perpendicular

D. non-coplanar

Answer: B

View Text Solution

231. The volume of the paralleloP1ped with co-terminous edges given by

the vectors  is

A. 23cu. Units

B. 33cu. Units

C. 10cu. Units

D. 43cu. Units

Answer: A

Watch Video Solution

3 î + 5ĵ, 4 î + 2ĵ − 3k̂, 3 î + ĵ + 4k̂

https://dl.doubtnut.com/l/_VdnEZyUf940r
https://dl.doubtnut.com/l/_yinDcGZXzdFN


232. The volume of the paralleloP1ped with co-terminous edges given by

the vectors  is

A. 60cu. Units

B. 84cu. Units

C. 150cu. Units

D. 230cu. Units

Answer: B

Watch Video Solution

2 î + 5ĵ − 4k̂, 5 î + 7ĵ + 5k̂, 4 î + 5ĵ − 2k̂

233. The volume of the paralleloP1ped with co-terminous edges given by

the vectors  is

A. 3cu. Units

B. 4cu. Units

ĵ + k̂, î + 3k̂, î + ĵ

https://dl.doubtnut.com/l/_yinDcGZXzdFN
https://dl.doubtnut.com/l/_SvEksDeBHBbd
https://dl.doubtnut.com/l/_zTTSgE1CSY4h


C. 1cu. units

D. 2cu. Units

Answer: D

Watch Video Solution

234. The volume of the paralleloP1ped with co-terminous edges given by

the vectors  is

A. 3cu. Units

B. cu. Units

C. 13cu. Units

D. 19cu. Units

Answer: A

Watch Video Solution

3 î − ĵ + 4k̂, 6 î + 2ĵ − 5k̂, 2 î + ĵ − 3k̂

−3

https://dl.doubtnut.com/l/_zTTSgE1CSY4h
https://dl.doubtnut.com/l/_LefYWUDb2qH2
https://dl.doubtnut.com/l/_RDrLoExOxn3L


235. The volume of the paralleloP1ped with co-terminous edges given by

the vectors  is

A. 3696cu. Units

B. 4536cu. Units

C. 2352cu. Units

D. 1512cu. Units

Answer: A

Watch Video Solution

12 î + 4ĵ + 3k̂, 8 î − 12ĵ − 9k̂, 33 î − 4ĵ − 24k̂

236. The volume of the paralleloP1ped with co-terminous edges

 is

A. 2cu. Units

B. 1cu. Units

C. 24cu. Units

ā = 2 î, b̄ = 3ĵ, c̄ = 4k̂

https://dl.doubtnut.com/l/_RDrLoExOxn3L
https://dl.doubtnut.com/l/_IwB0v72eXRdQ


D. 8cu. Units

Answer: C

Watch Video Solution

237. The volume of the paralleloP1ped whose co-terminous edges are

, where  are non-coplanar units vectors each inclined with

other at an angle of  is

A. 2cu. Units

B. cu. Units

C. cu. Units

D. cu. Units

Answer: D

View Text Solution

ā, b̄, c̄ ā, b̄, c̄

60∘

√2

1

2

1

√2

https://dl.doubtnut.com/l/_IwB0v72eXRdQ
https://dl.doubtnut.com/l/_663ZG6MHjSar
https://dl.doubtnut.com/l/_bJaUxrxxOrnA


238. If  are the vectors along the

diagonals of a parallelogram ABCD and  is another

vector, then the volume of the paralleloP1ped whose co-terminous edges

are represented by the vectors  is

A. 2cu. Units

B. 10cu. Units

C. 6cu. Units

D. 12cu. Units

Answer: B

View Text Solution

¯̄̄ ¯̄¯AC = 3 î + ĵ − 2k̂, ¯̄¯̄¯̄DB = î − 3ĵ − 4k̂

¯̄̄ ¯̄¯AE = î + 2ĵ + 3k̂

¯̄̄ ¯̄¯AB, ¯̄¯̄¯̄AD, ¯̄̄ ¯̄¯AE

239. If A,B,C,D are (1,1,1), (2,1,3), (3,2,2),(3,3,4) respectively, then find the

volume of the parallelopiped with AB,AC and AD as the concurrent edges.

A. 1cu. Units

B. 4cu. Units

https://dl.doubtnut.com/l/_bJaUxrxxOrnA
https://dl.doubtnut.com/l/_Pji412eKml1y


C. 5cu. Units

D. 3cu. Units

Answer: C

Watch Video Solution

240. If A,B,C and D are {3,7,4),(5,-2,-3),(-4,5,6) and (1,2,3) respectively, then

the value of the parallelopiped with AB, AC and AD as the co-terminus

edges, is . . . Cubic units.

A. 154cu. Units

B. 106cu. Units

C. 44cu. Units

D. 92cu. Units

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Pji412eKml1y
https://dl.doubtnut.com/l/_aHhAx2T90Xrg


241. If , then the volume

of the paralleloP1ped with segments AB, AC, AD as a concurrent edges is

A. 7cu. Units

B. 6cu. Units

C. 3cu. Units

D. 5cu. Units

Answer: A

Watch Video Solution

A(4, 2, 1), B(2, 1, 0), C(3, 1, − 1), D(1, − 1, 2)

242. If  then the volume of the paralleloP1ped whose co-

terminous edges are 

A. 9cu. Units

B. 8cu. Units

[ ā b̄ c̄ ] = 2

2ā + b̄, 2b̄ + c̄ and 2c̄ + ā

https://dl.doubtnut.com/l/_aHhAx2T90Xrg
https://dl.doubtnut.com/l/_26gmgdaWbjrp
https://dl.doubtnut.com/l/_myzLK3jWIJrE


C. 18cu. Units

D. 16cu. Units

Answer: C

Watch Video Solution

243. If  then the volume of the paralleloP1ped with 

 as co-terminous edges is

A. 6cu. Units

B. 7cu. Units

C. 8cu. Units

D. 4cu. Units

Answer: C

Watch Video Solution

[ ā b̄ c̄ ] = 4

ā + b̄, b̄ + c̄ and c̄ + ā

https://dl.doubtnut.com/l/_myzLK3jWIJrE
https://dl.doubtnut.com/l/_xYnHUJJ5tJM9
https://dl.doubtnut.com/l/_OwgvSlJPVOwe


244. If the three co-terminous edges of a paralleloP1ped are represented

by , then its volume is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ā − b̄, b̄ − c̄, c̄ − ā

[ ā b̄ c̄ ]

2[ ā b̄ c̄ ]

[ ā b̄ c̄ ]
2

0

245. The volume of paralleloP1ped with vector

 is equal to . Then k=

A. 

B. 

C. 

ā + 2b̄ + c̄, ā − b̄ and ā − b̄ − c̄ k[ ā b̄ c̄ ]

−3

3

2

https://dl.doubtnut.com/l/_OwgvSlJPVOwe
https://dl.doubtnut.com/l/_Na1HDIHH0aaD


D. 

Answer: B

Watch Video Solution

−2

246. The volume of the tetrahedron whose co-terminous edges are

 is

A. cu. Units

B. cu. Units

C. cu. Units

D. cu. Units

Answer: B

Watch Video Solution

ĵ + k̂, k̂ + î, î + ĵ

1

6

1

3

1

2

2

3

https://dl.doubtnut.com/l/_Na1HDIHH0aaD
https://dl.doubtnut.com/l/_QJPkxWwyoCfE


247. Find the volume tetrahedron whose coterminus edges are

.

A. 28cu. Units

B. 14cu. Units

C. 21cu. Units

D. 7cu. Units

Answer: B

Watch Video Solution

7 î + k̂, 2 î + 5ĵ − 3k̂ and 4 î + 3ĵ + k̂

248. The volume of the tetrahedron whose co-terminous edges are ,

where  are non-coplanar units vectors each inclined with other at

an angle of  is

A. cu. units

B. cu. Units

ā, b̄, c̄

ā, b̄, c̄

30∘

3√3 − 5

12

3√3 − 5

144

https://dl.doubtnut.com/l/_JpUore89azEc
https://dl.doubtnut.com/l/_9LTcJdiBTgo9


C. cu. Units

D. cu. Units

Answer: C

View Text Solution

√3√3 − 5

12

√3√3 − 5

144

249. Volume of tetrahedron with vertices at

 is

A. cu. Units

B.  cu. Units

C. cu.units

D. cu. Units

Answer: A

Watch Video Solution

(0, 0, 0), (1, 0, 0), (0, 1, 0), (0, 0, 1)

1

6

1

4

1

3

1

5

https://dl.doubtnut.com/l/_9LTcJdiBTgo9
https://dl.doubtnut.com/l/_5VQnMUt9hwxj
https://dl.doubtnut.com/l/_eR0Oywee9gDN


250. The volume of the tetrahedron whose vertices are

A.  cu. Units

B. cu. Units

C. cu. Units

D. cu. Units

Answer: D

Watch Video Solution

A( − 1, 2, 3), B(3, − 2, 1), C(2, 1, 3) and C( − 1, − 2, 4)

2

3

32

3

8

3

16

(3)

251. The volume of the tetrahedron whose vertices are

 are

A. cu. Units

B. cu. Units

C. cu. Units

(3, 7, 4), (5, − 2, 3), ( − 4, 5, 6) and (1, 2, 3)

42
3

41
3

46
3

https://dl.doubtnut.com/l/_eR0Oywee9gDN
https://dl.doubtnut.com/l/_TXv4gLakdfVY


D. cu. Units

Answer: C

Watch Video Solution

45
2

252. If  then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ā ⋅ î = 4, (ā × ĵ) ⋅ (2ĵ − 3k̂) =

12

2

0

−12

253. If  then a=[ î + 4ĵ + 6k̂ 2 î + aĵ + 3k̂ î + 2ĵ − 3k̂ ] = 0

https://dl.doubtnut.com/l/_TXv4gLakdfVY
https://dl.doubtnut.com/l/_UKzoXDg2BAfP
https://dl.doubtnut.com/l/_PA6wXZrYYb4G


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

4

3

6

2

254. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[ î ĵ k̂ ] + [ k̂ ĵ î ] + [ ĵ k̂ î ] =

1

3

−3

−1

https://dl.doubtnut.com/l/_PA6wXZrYYb4G
https://dl.doubtnut.com/l/_el1sCr9iM6Ll


255. If , then 

=

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ū = î − 2ĵ + k̂, v̄ = 3 î + k̂, ¯̄̄w = ĵ − k̂

(ū + ¯̄̄w) ⋅ ((ū × v̄) × (v̄ × ¯̄̄w))

0

24

−12

12

256. If , then 

A. 

B. 

ū = î − 2ĵ + k̂, v̄ = 3 î + k̂, ¯̄̄w = ĵ − k̂

[ ū × v̄ ū × ¯̄̄w v̄ × ¯̄̄w ] =

0

24

https://dl.doubtnut.com/l/_el1sCr9iM6Ll
https://dl.doubtnut.com/l/_FWSVMbmPfq9q
https://dl.doubtnut.com/l/_XtOGLjKZ3c8Z


C. 

D. 

Answer: A

Watch Video Solution

−12

12

257. If , then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ā = î + 5k̂, b̄ = 2 î + 3k̂, c̄ = 4 î − ĵ + 2k̂, d̄ = î − ĵ

(c̄ − ā)) ⋅ (b̄ × d̄ ) =

15

6

0

12

https://dl.doubtnut.com/l/_XtOGLjKZ3c8Z
https://dl.doubtnut.com/l/_sePSOOtLMNf0
https://dl.doubtnut.com/l/_qEsM2L89xxQl


258. If , then 

=

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ū = − î − 2ĵ + k̂, r̄ = 3 î + k̂, ¯̄̄w = 4ĵ + 5k̂

(ū + ¯̄̄w) ⋅ ((ū × r̄) × (r̄ × ¯̄̄w))

66

330

198

138

259. If , then 

A. 

B. 

C. 

D. 

c̄ = 3ā − 2b̄ [ ā b̄ c̄ ] =

0

3

2

1

https://dl.doubtnut.com/l/_qEsM2L89xxQl
https://dl.doubtnut.com/l/_qRwDU6DpG1DZ


Answer: A

Watch Video Solution

260. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

[ ā b̄ ā × b̄ ] =

∣∣ā × b̄∣∣

∣∣ā × b̄∣∣
2

0

1

261. Which of the following is trues?

A. [ ā − b̄ b̄ − c̄ c̄ − ā ] = 0

https://dl.doubtnut.com/l/_qRwDU6DpG1DZ
https://dl.doubtnut.com/l/_JG2kYr3a48jP
https://dl.doubtnut.com/l/_llDFr55jfNRo


B. 

C. 

D. 

Answer: A

Watch Video Solution

[ ā + b̄ b̄ + c̄ c̄ + ā ] = 0

[ ā + b̄ c̄ + ā b̄ + c̄ ] = 0

[ ā × b̄ b̄ × c̄ c̄ × ā ] = 0

262. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

[ ā − b̄ b̄ − c̄ c̄ − ā ] =

[ ā b̄ c̄ ]

2[ ā b̄ c̄ ]

0

3[ ā b̄ c̄ ]

https://dl.doubtnut.com/l/_llDFr55jfNRo
https://dl.doubtnut.com/l/_P25eDRQKOIsz
https://dl.doubtnut.com/l/_Y9e7kr2qsNiA


263. If  are unit coplanar vectors, then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ā, b̄ and c̄

[ 2ā − b̄ 2b̄ − c̄ 2c̄ − ā ] =

0

1

−√3

√3

264. If  are three non-coplanar vectors, then 

A. 

B. 

C. 

ā, b̄ and c̄

(ā + b̄) ⋅ ((ā + c̄) × b̄) =

[ ā b̄ c̄ ]

2[ ā b̄ c̄ ]

0

https://dl.doubtnut.com/l/_Y9e7kr2qsNiA
https://dl.doubtnut.com/l/_m7oMssjWRTBV


D. 

Answer: D

Watch Video Solution

−[ ā b̄ c̄ ]

265. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

[ ā + b̄ b̄ + c̄ c̄ + ā ] =

0

2[ ā b̄ c̄ ]

[ ā b̄ c̄ ]

−[ ā b̄ c̄ ]

266. [ ā b̄ + c̄ c̄ + b̄ + ā ] =

https://dl.doubtnut.com/l/_m7oMssjWRTBV
https://dl.doubtnut.com/l/_KB1k0PchfZgO
https://dl.doubtnut.com/l/_2bYz9dVCf9Yc


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

[ ā b̄ c̄ ]

−[ ā b̄ c̄ ]

0

2[ ā b̄ c̄ ]

267. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ā ⋅ ((ā + b̄ + c̄) × (b̄ + c̄)) =

0

1

[ ā b̄ c̄ ]

−[ ā b̄ c̄ ]

https://dl.doubtnut.com/l/_2bYz9dVCf9Yc
https://dl.doubtnut.com/l/_iFy7NE9zn942


268. Value of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

((ā + b̄ + c̄) × (b̄ − ā)) ⋅ c̄

[ ā b̄ c̄ ]

0

3[ ā b̄ c̄ ]

2[ ā b̄ c̄ ]

269. If  are three non-coplanar vectors, then 

A. 

B. 

C. 

ā, b̄ and c̄

[ ā + b̄ + c̄ ā − c̄ ā − b̄ ] =

−3[ ā b̄ c̄ ]

−2[ ā b̄ c̄ ]

4[ ā b̄ c̄ ]

https://dl.doubtnut.com/l/_iFy7NE9zn942
https://dl.doubtnut.com/l/_z55SwRZZQ4rw
https://dl.doubtnut.com/l/_zEHsGra6V0lY


D. 

Answer: A

Watch Video Solution

2[ ā b̄ c̄ ]

270. If  are three non-coplanar vectors, then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ā, b̄ and c̄

(ā + 2b̄ − c̄) ⋅ ((ā − b̄) × (ā − b̄ − c̄)) =

[ ā b̄ c̄ ]

2[ ā b̄ c̄ ]

3[ ā b̄ c̄ ]

4[ ā b̄ c̄ ]

https://dl.doubtnut.com/l/_zEHsGra6V0lY
https://dl.doubtnut.com/l/_IhlvJE6lgrzc


271. If  are three non-coplanar vectors, then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ā, b̄ and c̄

(ā + 2b̄ − c̄) ⋅ ((ā − b̄) × (ā − b̄ − c̄)) =

[ ā b̄ c̄ ]

3[ ā b̄ c̄ ]

2[ ā b̄ c̄ ]

0

272. If  are three non-coplanar vectors, then 

A. 

B. 

C. 

ā, b̄ and c̄

(ā − 2b̄ − c̄) ⋅ ((ā + b̄ − c̄) × (ā − b̄ + c̄)) =

[ ā b̄ c̄ ]

3[ ā b̄ c̄ ]

6[ ā b̄ c̄ ]

https://dl.doubtnut.com/l/_29Bx4SpdKsUh
https://dl.doubtnut.com/l/_bPYORREFt5oS


D. 

Answer: C

Watch Video Solution

−6[ ā b̄ c̄ ]

273. If  are three coplanar vectors, then 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

ā, b̄ and c̄

(ā + b̄) ⋅ (((b̄ + c̄) × ā + (b̄ + (ā) × b̄)) =

0

[ ā b̄ c̄ ]

2[ ā b̄ c̄ ]

−[ ā b̄ c̄ ]

https://dl.doubtnut.com/l/_bPYORREFt5oS
https://dl.doubtnut.com/l/_kkQ4XLe0BYOh


274. If  are three non-coplanar vectors, then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ū, v̄, ¯̄̄w

(ū + v̄ − ¯̄̄w) ⋅ ((ū − v̄) × (v̄ − ¯̄̄w)) =

0

ū ⋅ (v̄ × ¯̄̄w)

ū ⋅ (¯̄̄w × v̄)

3ū ⋅ (¯̄̄w × v̄)

275. If four points  are coplanar, then 

A. 

B. 

C. 

A(ā), B(b̄), C(c̄) and D(d̄ )

[ ā b̄ d̄ ] + [ b̄ c̄ d̄ ] + [ c̄ ā d̄ ] =

[ ā c̄ d̄ ]

[ ā b̄ c̄ ]

[ c̄ b̄ d̄ ]

https://dl.doubtnut.com/l/_XOTAaBfzJMlg
https://dl.doubtnut.com/l/_4Tga4eQ5hvgr


D. 

Answer: B

Watch Video Solution

[ d̄ b̄ c̄ ]

276. For vectors  is a non-zero vector,

then 

A. 

B. 

C.  where is non-zero scalar

D.  is a scalar

Answer: B

Watch Video Solution

ā and b̄ and ā + b̄ ≠ = 0 and c̄

(ā + b̄) × (c̄ − (ā + b̄)) =

ā + b̄

(ā + b̄) × c̄

λc̄

λ(ā + b̄), λ ≠ 0

https://dl.doubtnut.com/l/_4Tga4eQ5hvgr
https://dl.doubtnut.com/l/_d5ZhYq3oLSDH


277. If  are non-coplanar and m, n are real numbers, the 

 is true for

A. exactly one value of m, n

B. exactly two value of m, n

C. exactly three values of m, n

D. all values of m, n

Answer: A

View Text Solution

ā, b̄, c̄

[ mā mb̄ 3c̄ ] − [ mb̄ c̄ nā ] − [ nc̄ nā 2b̄ ] = 0

278. The number of distinct real values of , for which the vectors

 are coplanar, is

A. exactly three values of 

B. exactly two value of 

C. exactly one values of 

λ

−λ2 î + ĵ + k̂, î − λ2 ĵ + k̂ and î + ĵ − λ2k̂

λ

λ

λ

https://dl.doubtnut.com/l/_a76TivXYHIfL
https://dl.doubtnut.com/l/_EOOJXqdFIMz9


D. all values of 

Answer: B

Watch Video Solution

λ

279. If , then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[ ā b̄ c̄ ] = 12 [ ā + b̄ b̄ + c̄ c̄ + ā ] =

24

36

48

26

https://dl.doubtnut.com/l/_EOOJXqdFIMz9
https://dl.doubtnut.com/l/_IofQDuptgolp


280. If  then 

________

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[ 2ā + b̄ c̄ d̄ ] = λ[ ā c̄ d̄ ] + μ[ b̄ c̄ d̄ ], λ + μ =

6

−6

10

8

281. If , then 

A. 

B. 

C. 

D. 

[ 3ā + 5b̄ c̄ d̄ ] = p[ ā c̄ d̄ ] + q[ b̄ c̄ d̄ ] p + q =

8

−8

2

0

https://dl.doubtnut.com/l/_pU50Xd37xRnh
https://dl.doubtnut.com/l/_QAVd2ZEtSBFx


Answer: A

Watch Video Solution

282. If  are non-coplanar and 

 then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ā, b̄ and c̄

(ā + 2b̄ − c̄) ⋅ ((ā − b̄) × (ā + b̄ − c̄)) = λ[ ā b̄ c̄ ] λ =

2

1

4

5

283. If  are unit vectors perpendicular to each other, the ā, b̄ and c̄

[ ā b̄ c̄ ]
2

=

https://dl.doubtnut.com/l/_QAVd2ZEtSBFx
https://dl.doubtnut.com/l/_kuKLEtYME2nv
https://dl.doubtnut.com/l/_z92cPhUhSFc3


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1

3

4

2

284. The value of  where

 is

A. 

B. 

C. 

D. 

Answer: C

[ ā − b̄ b̄ − c̄ c̄ − ā ]

|ā| = 1, ∣∣b̄∣∣ = 2 and |c̄| = 3

1

6

0

3

https://dl.doubtnut.com/l/_z92cPhUhSFc3
https://dl.doubtnut.com/l/_XaW3N6J1rx4o


Watch Video Solution

285. If  is perpendicular to 

such that the angle between  is , then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

|ā| = 5, ∣∣b̄∣∣ = 3, |c̄| = 4 and |ā| ∣∣b̄∣∣ and |c̄|

∣∣b̄∣∣ and |c̄|
5π

6
[ ā b̄ c̄ ] =

25

20

30

10

286. If  is perpendicular to  and the

angle between  is , then 

A. 

ā b̄ and c̄, |ā| = 2, ∣∣b̄ = 3, ∣∣c̄ ∣ = 4

b̄ and c̄
2π

3
|[ ā b̄ c̄ ]| =

12

https://dl.doubtnut.com/l/_XaW3N6J1rx4o
https://dl.doubtnut.com/l/_aaXqX6DWaxj0
https://dl.doubtnut.com/l/_es9RARYgY0rB


B. 

C. 

D. 

Answer: B

Watch Video Solution

12√3

12

√3

12√2

287. If  is perpedicular to  such that the angle

between  is , then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

|c̄| = 1 and c̄ ā and b̄

ā and b̄
π

4
[ ā b̄ c̄ ] =

|ā|∣∣b̄∣∣
1

√2

|ā|2∣∣b̄∣∣
21

2

|ā|∣∣b̄∣∣

|ā|2∣∣b̄∣∣
2

https://dl.doubtnut.com/l/_es9RARYgY0rB
https://dl.doubtnut.com/l/_tpSQzXPvIrsx


288. If  is a units vectors such

that , then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ā = î − ĵ, b̄ = ĵ − k̂, c̄ = k̂ − î and d̂

ā ⋅ d̂ = [ b̄ c̄ d̄ ] = 0 d̂ =

|ā|∣∣b̄∣∣
1

√2

|ā|2∣∣b̄∣∣
21

2

|ā|∣∣b̄∣∣

±
î + ĵ − 2k̂

√6

289. If  is a unit vectors, then the

maximum value of  is

A. 

B. 

b̄ = 2 î + ĵ − k̂, c̄ = î + 3k̂ and ā

[ ā b̄ c̄ ]

√59

1

https://dl.doubtnut.com/l/_tpSQzXPvIrsx
https://dl.doubtnut.com/l/_8EcjmEL1iOik
https://dl.doubtnut.com/l/_sZY4Ny1u4WXG


C. 

D. 

Answer: A

Watch Video Solution

3

7

290. If  are linearly independent, the 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ā, b̄, c̄

=
[ 2ā + b̄ 2b̄ + c̄ 2c̄ + ā ]

[ ā b̄ c̄ ]

9

8

7

3

https://dl.doubtnut.com/l/_sZY4Ny1u4WXG
https://dl.doubtnut.com/l/_qvXqNnc2tr8C
https://dl.doubtnut.com/l/_T5pBGyv54SpD


291. If  are three non-coplanar vector, the 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

¯̄̄A , ¯̄̄B, ¯̄̄C

+ =
¯̄̄A ⋅ ¯̄̄B × ¯̄̄C
¯̄̄C ⋅ ¯̄̄A × ¯̄̄B

¯̄̄B ⋅ ¯̄̄A × ¯̄̄C
¯̄̄C ⋅ ¯̄̄A × ¯̄̄B

−1

0

1

2

292. If  are non-coplanar vectors and , then 

A. 

B. 

C. 

D. 

ā, b̄, c̄ d̄ = λā + μb̄ + γc̄ λ =

[ d̄ b̄ c̄ ]

[ b̄ ā c̄ ]

[ b̄ c̄ d̄ ]

[ b̄ c̄ ā ]

[ b̄ d̄ c̄ ]

[ ā b̄ c̄ ]

[ c̄ b̄ d̄ ]

[ ā b̄ c̄ ]

https://dl.doubtnut.com/l/_T5pBGyv54SpD
https://dl.doubtnut.com/l/_uTqDSmKu7h3D


Answer: B

View Text Solution

293. If  are non-coplanar vectors and 

 then 

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

ā, b̄, c̄

ā = λ(b̄ × c̄) + μ(c̄ × ā) + γ(ā × b̄) λ =

ā ⋅ b̄

[ ā b̄ c̄ ]

b̄ ⋅ c̄

[ ā b̄ c̄ ]

c̄ ⋅ ā

[ ā b̄ c̄ ]

ā ⋅ ā

[ ā b̄ c̄ ]

294. If  are any two perpendicular unit vectors and  is any vector,

then 

b̄ and c̄ ā

(ā ⋅ b̄)b̄ + (ā ⋅ c̄)c̄ + (ā ⋅ )(b̄ × c̄) =
b̄ × c̄

∣∣b̄ × c̄∣∣

https://dl.doubtnut.com/l/_uTqDSmKu7h3D
https://dl.doubtnut.com/l/_9MAItYHa9dho
https://dl.doubtnut.com/l/_6U5q9KYusFQM


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

b̄

ā

c̄

b̄ + c̄

295. If  are three non-coplanar vectors and  are vectors

defined by the relations

, then 

A. 

B. 

C. 

D. 

ā, b̄, c̄ p̄, q̄ , r̄

p̄ = , q̄ = , r̄ =
b̄ × c̄

[ ā b̄ c̄ ]

c̄ × ā

[ ā b̄ c̄ ]

ā × b̄

[ ā b̄ c̄ ]

(ā + b̄) ⋅ p̄ + (b̄ + c̄) ⋅ q̄ + (c̄ + ā) ⋅ r̄ =

0

1

2

3

https://dl.doubtnut.com/l/_6U5q9KYusFQM
https://dl.doubtnut.com/l/_nHm6C2YQEbgL


Answer: D

Watch Video Solution

296. If  are three non-coplanar vectors and  are vectors

defined by the relations

, then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ā, b̄, c̄ p̄, q̄ , r̄

p̄ = , q̄ = , r̄ =
b̄ × c̄

[ ā b̄ c̄ ]

c̄ × ā

[ ā b̄ c̄ ]

ā × b̄

[ ā b̄ c̄ ]

(ā + b̄) ⋅ p̄ + (b̄ + c̄) ⋅ q̄ + (c̄ + ā) ⋅ r̄ =

0

1

2

3

https://dl.doubtnut.com/l/_nHm6C2YQEbgL
https://dl.doubtnut.com/l/_a5FP5eRBXuvr


297. If , where 

are three non-coplanar vectors, then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

p̄ = , q̄ = , r̄ =
b̄ × c̄

[ ā b̄ c̄ ]

c̄ × ā

[ ā b̄ c̄ ]

ā × b̄

[ ā b̄ c̄ ]
ā, b̄, c̄

(ā + b̄ + c̄) ⋅ (p̄ + q̄ + r̄) =

3

2

1

0

298. If , where 

are three non-coplanar vectors, then

A. 

B. 

p̄ = , q̄ = , r̄ =
b̄ × c̄

[ ā b̄ c̄ ]

c̄ × ā

[ ā b̄ c̄ ]

ā × b̄

[ ā b̄ c̄ ]
ā, b̄, c̄

(ā − b̄ − c̄) ⋅ p̄ − (b̄ − c̄ − ā) ⋅ q̄ − (c̄ − ā − b̄) ⋅ r̄ =

3

2

https://dl.doubtnut.com/l/_ga4T6aPUffqB
https://dl.doubtnut.com/l/_JBDcX28hMdUE


C. 

D. 

Answer: C

Watch Video Solution

−1

0

299. If  are three non-coplanar vectors, then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ā, b̄, c̄

ā ⋅ ( ) − b̄ ⋅ ( ) =
b̄ × c̄

3[ b̄ c̄ ā ]

c̄ × ā

2[ c̄ ā b̄ ]

−1

6

−5

6

1

6

5
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300. If  are z co-ordinates of the point of trisection of the

segment joining the points  then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

z1 and z2

A(2, 1, 4), B( − 1, 3, 6) z1 + z2 =
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301. Let  be a quadrilateral. If M and N are the mid-points of the

sides PQ and RS respectively, then PS+QR=

A. 

B. 

C. 

□ PQRS

3̄ ¯̄̄ ¯̄̄ ¯MN

4̄ ¯̄̄ ¯̄̄ ¯MN

2̄ ¯̄̄ ¯̄̄ ¯MN
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D. 

Answer: C

Watch Video Solution

2̄ ¯̄̄ ¯̄̄ ¯NM
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